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;>=6 Χ8<4 Β4Α84Β >= 20Α1>= 38>Γ834 4<8ΒΒ8>=Β 0=3 0= 8=3820Χ>Α >5 42>=><82 34Ε4;>?<4=Χ 5>Α 0

=∆<14Α >5 34Ε4;>?43 0=3 34Ε4;>?8=6 2>∆=ΧΑ84Β 0=3 Α4;Η >= 0 =>=?0Α0<4ΧΑ82 :4Α=4; Α46Α4ΒΒ8>=

4ΒΧ8<0Χ>Α, Φ7827 ?;024Β ;8ΧΧ;4 Α4ΒΧΑ82Χ8>= >= Χ74 5∆=2Χ8>=0; 5>Α< >5 Χ74 Α4;0Χ8>=Β78? 14ΧΦ44= ?>;-

;∆Χ8>= 0=3 >∆Χ?∆Χ. ∃∆Α Α4Β∆;ΧΒ 3> 8=3443 ?Α>Ε834 4Ε834=24 >5 74Χ4Α>64=4>∆Β 4Γ?4Α84=24Β 02Α>ΒΒ

Χ74 2>∆=ΧΑ84Β 4Γ0<8=43.

)74 Α4ΒΧ >5 Χ74 ?0?4Α 8Β >Α60=8Ι43 0Β 5>;;>ΦΒ. A Ε8=Χ064 20?8Χ0; <>34; 8Β ?Α4Β4=Χ43 8= (42Χ8>=

2. I= ?0ΑΧ82∆;0Α, Φ4 ?Α>>5 Χ74 4Γ8ΒΧ4=24 >5 0 10;0=243 6Α>ΦΧ7 ?0Χ7, 0=3 Β7>Φ Χ70Χ 8Χ 20= 14

Α402743 8= ϑ=8Χ4 Χ8<4. I= Β42Χ8>= 3, Χ74 ;>=6 Χ8<4 Β4Α84Β 30Χ0, Χ74 4<?8Α820; 5Α0<4Φ>Α:, 0=3 Χ74

42>=><4ΧΑ82 Α4Β∆;ΧΒ 0Α4 38Β?;0Η43. A 64=4Α0; 38Β2∆ΒΒ8>= 0=3 2>=2;∆Β8>=Β 0Α4 ?Α>Ε8343 8= (42Χ8>=

4.

2 T∃! (∗ !∋

I= Χ78Β Β42Χ8>=, Φ4 ϑΑΒΧ ?Α4Β4=Χ 0 ΒΧ0=30Α3 Ε8=Χ064 20?8Χ0; <>34;, Φ74Α4 Φ4 033 0= 4≅∆0Χ8>=

>5 <>Χ8>= Α4?Α4Β4=Χ8=6 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. ,4 Χ74= 34Α8Ε4 Χ74 ΧΑ0=Β8Χ8>= 3Η=0<82Β 0=3

Χ74 2>=38Χ8>=Β ∆=34Α Φ7827 0 10;0=243 6Α>ΦΧ7 ?0Χ7 4Γ8ΒΧΒ. I= ?0ΑΧ82∆;0Α, Φ4 0Α4 01;4 Χ> 5∆;;Η

270Α02Χ4Α8Ι4 Χ74 >?Χ8<0; Β2Α0??8=6 ?0Χ7, Φ7827 8Β ∆Β∆0;;Η =>Χ Χ74 20Β4 8= Χ74Β4 ΧΗ?4Β >5 <>34;Β.
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2.1 A 1%)/a#! ca+%/a∋ ./−0c/0−!

C>=Β834Α 0= 42>=><Η Φ8Χ7 0 2>=ΒΧ0=Χ ?>?∆;0Χ8>= ;4Ε4;, Φ74Α4 Χ74 ;01>Α <0Α:4Χ 8Β ?4Α542Χ;Η

2><?4Χ8Χ8Ε4, 0=3 Χ74 ?Α>3∆2Χ8>= Β42Χ>Α ?Α>3∆24Β >=;Η >=4 ϑ=0; 6>>3, Φ7827 20= 14 0ΒΒ86=43 Χ>

2>=Β∆<?Χ8>= >Α 8=Ε4ΒΧ<4=Χ 0=3 ?;0ΗΒ Χ74 Α>;4 >5 Χ74 =∆<4Α08Α4.

P−∗ 0c/%∗) S!c/∗− AΧ Χ8<4 % > 0, ?4Α 20?8Χ0 >∆Χ?∆Χ ((%) 8Β 0ΒΒ∆<43 Χ> 5>;;>Φ 0 Ε8=Χ064

20?8Χ0; Α∆;4

((%) =

Z t

t�T (t)
i())d): (1)

Φ74Α4 0 < T (%) <1 Α4?Α4Β4=ΧΒ Χ74 Ε8=Χ064 >5 Χ74 >;34ΒΧ <0278=4 8= ∆Β4, 0=3 i()) 8Β ?4Α 20?8Χ0

8=Ε4ΒΧ<4=Χ 8= 0 <0278=4 >5 064 ). D4ϑ=4 Χ74 ;854 4Γ?42Χ0=2Η >5 0 <0278=4 0Β J(%) = T (%+J(%)),

8.4., Χ74 4Γ?42Χ43 ;854 >5 0 <0278=4 0Χ Χ8<4 % 8Β 4≅∆0; Χ> Χ74 Β2Α0??8=6 Χ8<4 T (�), 4Ε0;∆0Χ43 0Χ

%+ J(%), Φ7827 2>ΑΑ4Β?>=3Β Χ> Χ74 Χ8<4 Φ74= Χ78Β =4Φ <0278=4 Φ8;; 14 Β2Α0??43 8= Χ74 5∆Χ∆Α4.

AΒ 20= 14 Β44= 5Α>< (1), Φ4, 8= 2>=ΧΑ0ΒΧ Χ> (Χ>:4Η (1998), 3> =>Χ 2>=Β834Α Χ74 ;4Ε4; >5 ?>;;∆Χ8>=

0Β 0= 8=?∆Χ 8= Χ74 ?Α>3∆2Χ8>= Β42Χ>Α. I=ΒΧ403, Φ4 0;;>Φ ?>;;∆Χ8>= Χ> 4=Χ4Α 2>=Β∆<4ΑΒΜ ∆Χ8;8ΧΗ

5∆=2Χ8>=. )7∆Β Φ4 0Α4 0ΒΒ∆<8=6 Χ70Χ 0;Χ7>∆67 Χ74 ϑΑ< 70Β Χ74 Α867Χ Χ> ?>;;∆Χ4, 2>=Β∆<4ΑΒ 0;Β>

70Ε4 Χ74 Α867Χ Χ> Α45∆Β4 1∆Η8=6 6>>3Β 5Α>< Λ38ΑΧΗΜ8=3∆ΒΧΑ84Β. C>=Β4≅∆4=Χ;Η, 85 0 6>>3 8Β ?Α>3∆243

8= Β∆27 0= 8=3∆ΒΧΑΗ, Α4Χ∆Α=Β Χ> 20?8Χ0; Φ8;; 342Α40Β4 Φ8Χ7 Χ74 4<?;>Η43 Χ427=>;>6Η. H4=24, Χ74

ϑΑ< 8Β 5>Α243 Χ> Β2Α0? Χ74 >;3 38ΑΧΗ <0278=4Β 0=3 Α4?;024 Χ74< 1Η =4Φ 2;40=4Α >=4Β, Φ7827 8=

Χ∆Α= 20= 14 2>=Β834Α43 0Β 0= 4=3>64=>∆Β ?Α>6Α4ΒΒ.

E)1%−∗)(!)/a∋ S!c/∗− I= Χ78Β 42>=><Η, 7>∆Β47>;3 064=ΧΒ 20Α4 =>Χ >=;Η 01>∆Χ Χ748Α ?4Α

20?8Χ0 2>=Β∆<?Χ8>= ;4Ε4; c(%) > 0, 1∆Χ 0;Β> ?0Η 0ΧΧ4=Χ8>= Χ> 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. F>;;>Φ8=6

A678>= 0=3 H>Φ8ΧΧ (1998, C70?.5), Φ4 0ΒΒ∆<4 Χ70Χ Χ74Α4 8Β 0= ∆??4Α ;8<8Χ Χ> 4=Ε8Α>=<4=Χ0;

≅∆0;8ΧΗ, 34=>Χ43 1Η E. ,4 <40Β∆Α4 E(%) 0Β Χ74 38Ρ4Α4=24 14ΧΦ44= Χ74 02Χ∆0; ≅∆0;8ΧΗ 0=3 Χ78Β

∆??4Α ;8<8Χ. )7∆Β, 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ Φ8;; 0;Φ0ΗΒ 14 =460Χ8Ε4. )74 4≅∆0Χ8>= >5 <>Χ8>= >5

4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 8Β 68Ε4= 1Η

_E(%) = �#E(%)�

Z t

t�T (t)
i())e�
zd); (2)

Φ74Α4 # > 0 8Β Χ74 <0Γ8<∆< ?>Χ4=Χ80; Α0Χ4 >5 Α42>Ε4ΑΗ >5 4=Ε8Α>=<4=Χ, 
 > 0 8Β Χ74 Α0Χ4 0Χ

Φ7827 Χ427=>;>6ΗΜΒ 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ 8<?Α>Ε4Β, 0=3 P (%) =

Z t

t�T (t)
i())e�
zd) <40Β∆Α4Β
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?>;;∆Χ8>=.2 ∃=4 Β7>∆;3 =>Χ4 Χ70Χ 5Α>< 4≅∆0Χ8>= (2) ?>;;∆Χ8>= 8Β 0 Β834-?Α>3∆2Χ >5 8=Ε4ΒΧ<4=Χ

i()) 8= Χ74 ?Α>3∆2Χ8>= Β42Χ>Α. I<?;828Χ 8= 4≅∆0Χ8>= (2) 8Β Χ74 0ΒΒ∆<?Χ8>= Χ70Χ =4Φ <0278=4Β 0Α4

;4ΒΒ ?>;;∆Χ8=6 Χ70= >;34Α >=4Β.3 ∗Β8=6 0 =4Φ4Α Ε8=Χ064 ;403Β 74=245>ΑΧ7 Χ> Α43∆243 ?>;;∆Χ8>= ?4Α

8=?∆Χ.

F∆ΑΧ74Α<>Α4, Β8=24 >∆Α <08= ?>8=Χ 8= Χ78Β ?0?4Α 8Β Β∆ΒΧ08=01;4 42>=><82 34Ε4;>?<4=Χ, Φ4 0ΒΒ∆<4

Χ70Χ 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 0;Β> 70Β 0 ;>Φ4Α ;8<8Χ, Φ7827 Φ4 Φ8;; Α454Α Χ> 0Β Χ74 ∗(;(:;967/0∗

;/9,:/63+. )78Β, 8= Χ∆Α=, 8<?;84Β Χ70Χ Χ74 >?Χ8<0; 6Α>ΦΧ7 ?0Χ7, 85 8Χ 4Γ8ΒΧΒ, Φ8;; 14 2>=ΒΧΑ08=43

0Β 5>;;>ΦΒ

E � E � 0:

F8=0;;Η, ?4Α 20?8Χ0 >∆Χ?∆Χ ((%) 20= 14 2>=Β∆<43, c(%), >Α 8=Ε4ΒΧ43 8= 0 Ε8=Χ064 20?8Χ0; 6>>3,

i(%) � 0,

((%) = c(%) + i(%): (3)

C!)/−a∋ P∋a))!− )74 24=ΧΑ0; ?;0==4ΑΜΒ >1942Χ8Ε4 5∆=2Χ8>= Φ8;; 4=Χ08; ?4Α 20?8Χ0 2>=Β∆<?Χ8>=

0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. ∀>Α4 ?0ΑΧ82∆;0Α;Η, Χ74 ?;0==4Α Φ8;; 27>>Β4 Χ74 ?0Χ7Β >5 2>=Β∆<?Χ8>=

0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 8= >Α34Α Χ> <0Γ8<8Ι4 Χ74 8=ΒΧ0=Χ0=4>∆Β ∆Χ8;8ΧΗ >5 Χ74 8=ϑ=8Χ4;Η ;8Ε43

Α4?Α4Β4=Χ0Χ8Ε4 7>∆Β47>;3,

max
c

Z 1

0
U(c; E) e��td% = max

c

Z 1

0
[�c(%)� (1� �)E(%)]e��td%, (4)

Β∆1942Χ Χ> (2), (3), 0=3

J(%) = T (%+ J(%)); (5)

2H4Α4 Φ4 ∆Β4 Χ74 2>=24?Χ >5 0 Χ∗3,(5,9∆;,∗/5636.0∗(3 796.9,:: 8=ΒΧ403 >5 ()(;,4,5;. C>?4;0=3 0=3 )0Η;>Α (2003,

C70?.2) 7>Φ4Ε4Α Β7>Φ Χ70Χ Χ74 ΧΦ> 0??Α>0274Β 0Α4 834=Χ820;. #>Χ4 0;Β> Χ70Χ 8= >∆Α 5Α0<4Φ>Α:, 4=Ε8Α>=<4=Χ0;

≅∆0;8ΧΗ 8Β =>Χ 9∆ΒΧ Χ74 8=Ε4ΑΒ4 >5 ?>;;∆Χ8>=, 68Ε4= Φ4 8=ΧΑ>3∆24 q, Φ7827 8Β Χ74 Β4;5 Α464=4Α0Χ8>= Α0Χ4 >5 =0Χ∆Α4. IΧ

70Β 5>Α 4Γ0<?;4 144= Β7>Φ= Χ70Χ 8= Χ74 20Β4 >5 20Α1>= 38>Γ834, 8= E∆Α>?40= 5>Α4ΒΧΒ, 20Α1>= ∆?Χ0:4 Α0=64Β ∆? Χ>

6.6 Χ>==4Β >5 20Α1>= ?4Α 742Χ0Α4 ?4Α Η40Α, 022>Α38=6 Χ> Χ74 ΧΗ?4 >5 ΧΑ44 0=3 Χ74 2;8<0Χ4 (5>Α <>Α4 34Χ08;Β, Β44

+0;4=Χ8=8 4Χ 0;., 2000).
3GΑ>ΒΒ<0= (1995) 0;Α403Η =>Χ8243 Χ74 4Ρ42Χ >5 42>=><82 6Α>ΦΧ7 >= Χ74 ≅∆0;8ΧΗ >5 Χ74 4=Ε8Α>=<4=Χ, Β8=24

Φ40;Χ784Α 2>∆=ΧΑ84Β 20= 0Ρ>Α3 Χ> Β?4=3 <>Α4 >= Α4Β40Α27 0=3 34Ε4;>?<4=Χ, 0=3 Χ7∆Β, Β∆1ΒΧ8Χ∆Χ4 38ΑΧΗ Χ427=>;>684Β

Φ8Χ7 2;40=4Α >=4Β.
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Φ74Α4 � > 0 8Β Χ74 2>=ΒΧ0=Χ Χ8<4 ?Α454Α4=24, 0 < � � 1 8Β 0 Φ4867Χ ?0Α0<4Χ4Α 14ΧΦ44= 2>=Β∆<?-

Χ8>= 6>>3Β 0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ, 0=3 i()), ) � 0 0=3 E(0) 0Α4 68Ε4= 5∆=2Χ8>=Β. F∆ΑΧ74Α<>Α4

Φ4 0ΒΒ∆<4 Χ70Χ 0 < 
 < � < 1, Φ7827 0Α4 =424ΒΒ0ΑΗ 0=3 Β∆Θ 284=Χ 2>=38Χ8>=Β 5>Α Χ74 4Γ8ΒΧ4=24

>5 0 10;0=243 6Α>ΦΧ7 ?0Χ7 8= 0= 4Γ>64=>∆Β 6Α>ΦΧ7 <>34;.4

2.2 O+/%(a∋ Sc−a++%)# R0∋!

)78Β Β42Χ8>= 8=Ε4ΒΧ860Χ4Β Χ74 ΧΑ0=Β8Χ8>=0; 3Η=0<82Β 5Α>< 0=Η 8=8Χ80; 8=Ε4ΒΧ<4=Χ ?Α>ϑ;4 0=3 4=Ε8Α-

>=<4=Χ0; 2>=38Χ8>= Χ>Φ0Α3Β Χ74 10;0=243 6Α>ΦΧ7 ?0Χ7 (BG%), 85 8Χ 4Γ8ΒΧΒ. )74 BG% 8Β 34ϑ=43

0Β Χ74 ?0Χ7 0;>=6 Φ7827 2>=Β∆<?Χ8>=, 8=Ε4ΒΧ<4=Χ, >∆Χ?∆Χ, 0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 6Α>Φ 0Χ

2>=ΒΧ0=Χ Α0Χ4Β, Φ78;4 Χ74 Β2Α0??8=6 064 T 0=3 >?Χ8<0; ;854 4Γ?42Χ0=2Η J 0Α4 ϑ=8Χ4 2>=ΒΧ0=ΧΒ.

,4 ?Α>2443 0Β 5>;;>ΦΒ. F8ΑΒΧ, Φ4 0ΒΒ∆<4 Χ74Α4 4Γ8ΒΧΒ 0 ϑ=8Χ4 Χ8<4 0 � %� < 1, Β∆27 Χ70Χ Χ74

8=Χ4Α8>Α Β>;∆Χ8>=Β 1468= 0Χ %�, 0=3 Φ4 34Α8Ε4 >?Χ8<0; 2>=38Χ8>=Β Χ70Χ Β7>∆;3 14 Ε4Α8ϑ43 Φ74=4Ε4Α

Φ4 Α4027 %�. (42>=3, Φ4 ?Α>Ε4 Χ74 4Γ8ΒΧ4=24 >5 %�. )78Α3, Φ4 2><?∆Χ4 Χ74 ΧΑ0=Β8Χ8>= 3Η=0<82Β

3∆Α8=6 ?4Α8>3 0 � % < %�, 0=3 270Α02Χ4Α8Ι4 Χ74 >?Χ8<0; 2>=38Χ8>=Β >= 8=Ε4ΒΧ<4=Χ 0=3 >∆Χ?∆Χ,

68Ε4= Χ74 Β2Α0??8=6 064 0=3 Χ74 BG%.

A5Χ4Α 270=68=6 Χ74 >Α34Α >5 8=Χ46Α0;Β 0=3 Α40ΑΑ0=68=6 Χ74 Χ4Α<Β, ϑΑΒΧ >Α34Α 2>=38Χ8>=Β Φ8Χ7

Α4Β?42Χ Χ> i(%) 0=3 J(%) 0Α4 68Ε4= 1Η

�e��t

 
1� e��J(t)

�
� 1

!

= e�
t
Z t+J(t)

t

e��z�())d); (6)

�(%) = �e
(t�T (t)): (7)

)74 2>-ΒΧ0Χ4 Ε0Α801;4 >5 E(%) Β0Χ8Βϑ4Β

_�(%) = (�+ #)�(%) + (1� �); (8)

0=3 Χ74 ΧΑ0=ΒΕ4ΑΒ0;8ΧΗ 2>=38Χ8>= 8Β

lim
t!1

e��t�(%)E(%) = 0:

4 I= >Α34Α Χ> >1Χ08= 4Γ?;828Χ Β>;∆Χ8>=Β, Φ4 0Ε>83 <>Α4 64=4Α0; ∆Χ8;8ΧΗ 5∆=2Χ8>=Β. ,78;4 64=4Α0; ∆Χ8;8ΧΗ 5∆=2Χ8>=Β

Φ>∆;3 0;;>Φ ∆Β Χ> ΦΑ8Χ4 3>Φ= >?Χ8<0; 2>=38Χ8>=Β 0Β 8= ∋0<Β4Η ΧΗ?4 <>34;Β, Χ74 4≅∆8;81Α8∆< 2>=38Χ8>=Β 5>Α Β∆27

0= 42>=><Η Φ>∆;3 68Ε4 Α8Β4 Χ> 0 <8Γ43-34;0Η 38Ρ4Α4=Χ80; 4≅∆0Χ8>= ΒΗΒΧ4< Φ8Χ7 4=3>64=>∆Β ;403Β 0=3 ;06Β (Β44

B>∆24::8=4 4Χ 0;., 1997).
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E≅∆0Χ8>= (8) Χ>64Χ74Α Φ8Χ7 8ΧΒ ΧΑ0=ΒΕ4ΑΒ0;8ΧΗ 2>=38Χ8>= 8Β )>18=ΜΒ # 8= Χ74 Β4=Β4 >5 4=Ε8Α>=<4=Χ0;

≅∆0;8ΧΗ, Φ7827 34Β2Α814 Χ74 Β703>Φ Ε0;∆4 >5 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. AΒ 8= Χ74 >?Χ8<0; 8=Ε4ΒΧ<4=Χ

?Α>ϑ;4, Χ78Β Β703>Φ Ε0;∆4 34Χ4Α<8=4Β Χ74 >?Χ8<0; 8=Ε4ΒΧ<4=Χ ΒΧΑ0Χ46Η (6), 0=3 Χ74 >?Χ8<0;

Β2Α0??8=6 Α∆;4 (7).

E≅∆0Χ8>= (6) ΒΧ0Χ4Β Χ70Χ Χ74 >?Χ8<0; 8=Ε4ΒΧ<4=Χ ΒΧΑ0Χ46Η Β7>∆;3 14 Β∆27 Χ70Χ 0Χ Χ8<4 % Χ74

38Β2>∆=Χ43 <0Α68=0; ?Α>3∆2Χ8Ε8ΧΗ 3∆Α8=6 Χ74 Φ7>;4 ;854Χ8<4 >5 Χ74 20?8Χ0; 02≅∆8Α43 8= % 4Γ02Χ;Η

2><?4=Β0Χ4Β 5>Α 1>Χ7 8ΧΒ 38Β2>∆=Χ43 >?4Α0Χ8>= 2>ΒΧ 0=3 8ΧΒ 38Β2>∆=Χ43 4=Ε8Α>=<4=Χ0; Β703>Φ

Ε0;∆4. )74 ϑΑΒΧ Χ4Α< >= Χ74 ;45Χ 70=3 Β834 8Β Χ74 38Β2>∆=Χ43 <0Α68=0; ?Α>3∆2Χ8Ε8ΧΗ 3∆Α8=6 Χ74

Φ7>;4 ;854Χ8<4 >5 Χ74 20?8Χ0; 02≅∆8Α43 8= %, 0=3 Χ74 Β42>=3 Χ4Α< 8Β Χ74 <0Α68=0; ?∆Α270Β4 2>ΒΧ 0Χ

% =>Α<0;8Ι43 Χ> >=4. )74 Α867Χ 70=3 Β834 8Β Χ74 38Β2>∆=Χ43 4=Ε8Α>=<4=Χ0; Β703>Φ Ε0;∆4 0Χ %.

)74 >?Χ8<0; Β2Α0??8=6 Α∆;4 (7) Β7>ΦΒ Χ70Χ 0 <0278=4 Β7>∆;3 14 Β2Α0??43 0Β Β>>= 0Β 8ΧΒ >?4Α0Χ8>=

2>ΒΧ Φ8Χ7 Α4Β?42Χ Χ> 2>=Β∆<?Χ8>= => ;>=64Α 2>Ε4ΑΒ 8ΧΒ <0Α:4Χ Ε0;∆4 >5 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ.

2.2.1 Ba∋a)c! #−∗2/∃ +a/∃

)74 BG% 8Β 34ϑ=43 1Η 0 2>=ΒΧ0=Χ >?Χ8<0; Β2Α0??8=6 064 0=3 2>=ΒΧ0=Χ Α0Χ4Β >5 6Α>ΦΧ7 5>Α Χ74

>Χ74Α 4=3>64=>∆Β Ε0Α801;4Β.

(∆1ΒΧ8Χ∆Χ8=6 (7) 8=Χ> (6), Φ4 >1Χ08= ΒΧΑ0867Χ5>ΑΦ0Α3;Η

�e��t

 
1� e��J(t)

�
� 1

!

= e�
t
Z t+J(t)

t

e��ze
(z�T (z))d):

D4Α8Ε8=6 Φ8Χ7 Α4Β?42Χ Χ> %, ∆Β8=6 (5) 0=3 Α40ΑΑ0=68=6 Χ4Α<Β, 8Χ 5>;;>ΦΒ Χ70Χ

e�
T (t) = 1� �+ 
 �



�
+



�
e��J(t): (9)

T∃!∗−!( 1 (P966−: :,, B6<∗,2205, ,; (3. (1997)) %0;/ 0 < 
 < � < 1, −69 % > %�, ;/, <508<,

+0Ε,9,5;0(3 05;,9069 :63<;065: 6− T (%) (5+ J(%) (9, .0=,5 )≅

J(%) = T (%) = T �;

>/,9, T � 0: ;/, 76:0;0=, Β?,+-7605;,+ 6− −<5∗;065 F (�) : R+ ! R+, >0;/ R+ = f∋ � 0g, (5+ −69

(5≅ ∋ � 0,

F (∋) = �
1



ln

�
1� �+ 
 �




�
+



�
e��x

�
:
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∃=4 Β7>∆;3 =>Χ4 Χ70Χ Φ78;4 Χ74 >?Χ8<0; Β2Α0??8=6 064 3>4Β =>Χ 34?4=3 >= Χ74 Φ4867Χ 14ΧΦ44=

2>=Β∆<?Χ8>= 6>>3Β 0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ, 8Χ 3>4Β 34?4=3 >= 2>=Β∆<4ΑΒΜ Χ8<4 ?Α454Α4=24

0=3 >= Χ74 Χ427=>;>6Η ?Α>6Α0<. )7∆Β, 38Ρ4Α4=Χ 42>=><84Β <0Η 7867;867Χ 38Ρ4Α4=Χ >?Χ8<0; ?0Χ7Β.

∀>Α4>Ε4Α Χ74 01>Ε4 ?0Α0<4Χ4ΑΒ 0=3 Χ427=>;>6820; ?Α>6Α4ΒΒ 3> =>Χ 6∆0Α0=Χ44 Χ70Χ 0 BG% 20= 14

Α402743. I= Χ74 5>;;>Φ8=6, Φ4 0Α4 6>8=6 Χ> 343∆24 Χ74 2>=38Χ8>=Β, ∆=34Α Φ7827 0= >?Χ8<0; BG%

2>∆;3 14 Α402743.

(∆??>Β4 8=Ε4ΒΧ<4=Χ 6Α>ΦΒ 0Χ 0 2>=ΒΧ0=Χ Α0Χ4 g, Φ8Χ7 8=Ε4ΒΧ<4=Χ ;4Ε4; i, 8.4. i(%) = iegt. FΑ><

Χ78Β Φ4 20= 40Β8;Η Β44 Χ70Χ 8=Ε4ΒΧ<4=Χ, 2>=Β∆<?Χ8>=, 0=3 >∆Χ?∆Χ 6Α>Φ 0Χ Χ74 Β0<4 2>=ΒΧ0=Χ Α0Χ4.

∋42>=Β834Α8=6 4≅∆0Χ8>= (2), 0=3 ∆Β8=6 10Β82 >Α38=0ΑΗ 38Ρ4Α4=Χ80; 4≅∆0Χ8>= Χ427=8≅∆4Β, Φ4 >1Χ08=

Χ70Χ, 5>Α % > %�,

E(%) = E(%�)e�qt � e�qt
Z t

t�
eqs
Z s

s�T �
i())e�
zd)d∃: (10)

F>Α 0 <>Α4 4Γ?;828Χ 5>Α< >5 (10), Β44 A??4=38Γ.

FΑ>< (1) 0=3 (10), 8Χ 5>;;>ΦΒ,

T∃!∗−!( 2 !<776:, 0 < 
 < � < 1, (5+ 3,; % > %�. (() I− −<9;/,9469, 
 < �
2 , ;/,9, 0: (

BGP, >/,9, 05=,:;4,5;, ∗65:<47;065, (5+ 6<;7<; .96> (; ∗65:;(5; 9(;, 
, ;/, .96>;/ 9(;, 6−

,5=09654,5;(3 8<(30;≅ 0: # > 0, (5+ 7633<;065 3,=,3: (9, :;()3,. F<9;/,9469,, :<:;(05()3, .96>;/

0: .<(9(5;,,+ (5+ ,5=09654,5;(3 8<(30;≅ >033 7,94(5,5;3≅ 04796=,, ;/6<./ 5,=,9 9,(∗/ 0;: <77,9

)6<5+. ()) %/,5 g > 
, ;/,9, 0: 56 BGP (5+ ;/, ,∗6564≅ ∗65=,9.,: ;6>(9+: ;/, ∗(;(:;967/0∗

6<;∗64, 05 Β50;, ;04,. %, 9,−,9 ;6 ;/0: ∗(:, (: ;/, 6=,9-05=,:;4,5; ∗(:,. (∗) I− g < 
, 6<;7<;,

05=,:;4,5;, (5+ ∗65:<47;065 .96> (; 9(;, g, >/,9, g >033 ), ,0;/,9 0 < g < minf
; 1� e�gT
�
g;

69 g = 0. I5 ;/0: ∗(:,, ,5=09654,5;(3 8<(30;≅ >033 ∗65:;(5;3≅ 04796=, (5+ ;,5+ ;6 ;/, <77,9

)6<5+ 05 ;/, 365. 9<5, )<; 56; (; ( ∗65:;(5; 9(;, 6− .96>;/. P633<;065 0: (3>(≅: +,∗9,(:05. (;

9(;, 
 � g. %, ∗(33 ;/0: ∗(:, ;/, <5+,9-05=,:;4,5; ∗(:,.

I= ?>8=Χ (0), 2>=38Χ8>= 
 < �
2 0Β24ΑΧ08=Β Χ70Χ 0= 8=Χ4Α8>Α Β>;∆Χ8>= >5 2>=Β∆<?Χ8>= 8Β 02784Ε43.

5

)74 ΒΧ0Χ4<4=Χ 01>∆Χ Χ74 20Χ0ΒΧΑ>?782 >∆Χ2><4 8= ?>8=Χ (1) 38Α42Χ;Η Α4Β∆;ΧΒ 5Α>< Χ74 0ΒΒ∆<?Χ8>=

2>=24Α=8=6 0 ;>Φ4Α 1>∆=3 8= 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. I= >Χ74Α Φ>Α3Β, Χ74 4=Ε8Α>=<4=Χ 20= =>Χ

5 IΧ 20= 40Β8;Η 14 Β7>Φ= Χ70Χ 0;>=6 Χ74 BG%, c(t) = y(t) � i(t) = ir
t
h�
1� e�
T

�
�
=
 � 1

i
> 0, 8<?;Η8=6

1�e�
T
�

> 
, Φ74Α4 
 8Β Χ74 6Α>ΦΧ7 Α0Χ4 >5 8=Ε4ΒΧ<4=Χ. G8Ε4= (9), 8Χ 5>;;>ΦΒ Χ70Χ 1�e�
T
�

= ��
+ 


�
[1�e��T

�

] >


. A Β∆Θ 284=Χ 2>=38Χ8>= 5>Α Χ78Β 8=4≅∆0;8ΧΗ Χ> 7>;3 8Β� > 2
.
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8=ϑ=8Χ4;Η Φ>ΑΒ4=. )74 8=Χ∆8Χ8>= 5>Α Χ78Β 8Β >1Ε8>∆Β. C>=Β834Α Β8<∆;Χ0=4>∆Β;Η 2>=Β∆<?Χ8>= 0=3

4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ. I5 Χ74 2>=ΒΧ0=Χ Β2Α0??8=6 Χ8<4 T � 8Β Α402743, Χ74 8=Ε4ΒΧ<4=Χ 6Α>ΦΧ7

Α0Χ4 Β7>∆;3 14 Χ74 Β0<4 0Β Χ74 Χ427=>;>6820; ?Α>6Α4ΒΒ Α0Χ4 8= >Α34Α Χ> :44? Β∆ΒΧ08=01;4 6Α>ΦΧ7

>5 >∆Χ?∆Χ, Φ78;4 4=Ε8Α>=<4=Χ0; 2;40=8=6 8Β 3>=4 1Η =0Χ∆Α4ΜΒ Β4;5 Α464=4Α0Χ8>= 018;8ΧΗ. H>Φ4Ε4Α,

Χ78Β Β4;5 Α464=4Α0Χ8>= Φ8;; =4Ε4Α 0;;>Φ 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ Χ> Α4027 8ΧΒ ∆??4Α 1>∆=3 (?>8=Χ

(0)). I= Χ74 20Β4 >5 >Ε4Α-8=Ε4ΒΧ<4=Χ 8= =4Φ4Α Χ427=>;>684Β, 8.4., g > 
, Χ74 4=Ε8Α>=<4=Χ Φ8;;

14 Χ>Χ0;;Η 34ΒΧΑ>Η43 8= ϑ=8Χ4 Χ8<4 (20Χ0ΒΧΑ>?782 20Β4, ?>8=Χ (1)). F8=0;;Η, 85 :44?8=6 8=Ε4ΒΧ<4=Χ

0=3 2>=Β∆<?Χ8>= 0Χ 0 ΒΧ403Η ΒΧ0Χ4 ;4Ε4; (8.4., g = 0), Β8=24 2;40=4Α <0278=4Β 0Α4 2>=Χ86∆>∆Β;Η

4<?;>Η43, 8Χ 8Β >1Ε8>∆Β Χ70Χ Χ74 4=Ε8Α>=<4=Χ Φ8;; 8<?Α>Ε4 (?>8=Χ (2)).

∃=4 Β7>∆;3 =>Χ4 Χ70Χ 0;Χ7>∆67 T � 8Β Α402743 3>4Β =>Χ 8<?;Η Χ70Χ Χ74 2;40=4ΒΧ <0278=4 8Β 5>∆=3.

#4Φ Χ427=8≅∆4Β 0;Φ0ΗΒ 0??40Α, Φ7827 0Α4 <>Α4 4=Ε8Α>=<4=Χ0; 5Α84=3;Η. H>Φ4Ε4Α, Β2Α0??8=6

Χ74 >;3 <0278=4Β 40Α;84Α >Α ;0Χ4Α Χ70= T � 0;Φ0ΗΒ Φ>ΑΒ4=Β 48Χ74Α 2>=Β∆<?Χ8>= >Α 4=Ε8Α>=<4=Χ0;

≅∆0;8ΧΗ, >Α 1>Χ7.

2.2.2 T−a).%/%∗)  4)a(%c. a) ∗+/%(a∋ .c−a++%)# /%(!

)Φ> 20Β4Β 20= 14 38ΒΧ8=6∆8Β743, 2>ΑΑ4Β?>=38=6 Χ> 38Ρ4Α4=Χ ;4Ε4;Β >5 34Ε4;>?<4=Χ. )74 ϑΑΒΧ

20Β4 2>ΑΑ4Β?>=3Β Χ> 0 Β8Χ∆0Χ8>= Φ74Α4 2>∆=ΧΑ84Β Β2Α0? Χ>> 50ΒΧ, 8.4., T (0) < T �. I=Χ∆8Χ8Ε4;Η,

>=4 2>∆;3 Χ78=: >5 Χ74 +,=,367,+ ∗6<5;9≅ 20Β4, Φ74Α4 42>=><84Β ΒΧ0ΑΧ Φ8Χ7 0 Α4;0Χ8Ε4;Η 7867

ΒΧ>2: >5 <0278=4Β. C>=Ε4ΑΒ4;Η, Χ74 +,=,36705. ∗6<5;9≅ 20Β4 Φ>∆;3 2>ΑΑ4Β?>=3 Χ> Χ74 20Β4 Φ74Α4

42>=><84Β 70Ε4 8=8Χ80;;Η 0 Α4;0Χ8Ε4;Η ;>Φ ΒΧ>2: >5 <0278=4Β.

I= Χ74 A??4=38Γ, Φ4 Β7>Φ Χ74 5>;;>Φ8=6 Α4Β∆;Χ

T∃!∗−!( 3 G0=,5 (5 05=,:;4,5; 796Β3, 6− ( ∗6<5;9≅, 0− 050;0(33≅ T (0) < T �, ;/,5 ;/0: ,∗6564≅

:/6<3+ 05:;(5;(5,6<:3≅ 1<47 ;6 ;/, 67;04(3 :∗9(7705. 7(;/. I5 ;/0: ∗(:,, %� = 0. C65=,9:,3≅, 0−

T (0) > T �, ;/,9, ,?0:;: ( ;04, %0, :<∗/ ;/(;, 0 < %0 <1. M69,6=,9,

T (%) =

8
><

>:

%�
�+ #



%�

1



ln

�
e�
T (0) +

1� �

�(�+ #)

�
1� e�(�+q)t

��
; 0 � % < %0;

T �; % � %0;

>/0∗/ 0: +,∗9,(:05. >0;/ ;04, %, 0− 0 � % < %0, (5+ %� = %0.

R!(a−& 1. ∗=34Α Χ78Β :8=3 >5 Ε8=Χ064 20?8Χ0; Β4ΧΧ8=6, 8Χ 8Β Χ74 ϑΑΒΧ Χ8<4 Χ> >∆Α :=>Φ;4364
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Χ70Χ 0 2;40Α 0=3 4Γ?;828Χ ΧΑ0=Β8Χ8>= 3Η=0<82 70Β 144= 34ϑ=43. F>Α Χ78Β ;8=40Α ∆Χ8;8ΧΗ 5∆=2Χ8>=,

Χ74 8<<4380Χ4 9∆<? 2>ΑΑ4Β?>=3Β Χ> Χ74 20Β4 >5 2>=Β∆<8=6 0;; >∆Χ?∆Χ 5>Α Β><4 Φ78;4, Φ74Α40Β

Χ74 >Χ74Α 20Β4 Φ>∆;3 2>ΑΑ4Β?>=3 Χ> 8=Ε4ΒΧ8=6 0;; >∆Χ?∆Χ, ∆=Χ8; Β2Α0?8=6 064 T �. )70Χ 8Β, 8= ϑ=8Χ4

Χ8<4 Χ74 2>Α=4Α Β>;∆Χ8>=Β 2>=Ε4Α64 Χ> 8=Χ4Α8>Α Β>;∆Χ8>=Β.

I=Χ∆8Χ8Ε4;Η, Β8=24 Χ74 4=3>64=>∆Β Β2Α0??8=6 Χ8<4 T (%) 8Β 8=2Α40Β8=6 Φ8Χ7 Χ74 8=8Χ80; Β2Α0??8=6

Χ8<4 T (0), 85 0= 42>=><Η ΒΧ0ΑΧΒ Φ8Χ7 0 Α4;0Χ8Ε4;Η 7867 ΒΧ>2: >5 <0278=4Β, 0=3 Β2Α0?Β Χ>> 50ΒΧ, 8Χ

8Β 8<?>ΒΒ81;4, 5>Α 0=Η ?>Β8Χ8Ε4 %, Χ70Χ T (%) Α40274Β T �, Χ74 >?Χ8<0; ?0Χ7, 68Ε4= Χ74 4=3>64=>∆Β

Β2Α0??8=6 ?Α>6Α0< 8Β 342Α40Β8=6 Φ8Χ7 Χ8<4. H4=245>ΑΧ7, Χ74 >=;Η Φ0Η Χ> Α4027 Χ74 >?Χ8<0; ?0Χ7

8Β Χ> 8<<4380Χ4;Η 9∆<? Χ> Χ78Β >?Χ8<0; ?0Χ7. A678>= 0=3 H>Φ8ΧΧ (1998, C70?.5) 34Ε4;>?43 Χ78Β

8340 ∆=34Α 0 (27∆<?4Χ4Α80= 5Α0<4Φ>Α:. H>Φ4Ε4Α, Χ74Η >=;Η Β7>Φ Χ70Χ Χ74Α4 8Β Β><4 8=8Χ80; Ε0;∆4

>5 20?8Χ0; 5>Α Χ78Β Χ> 70??4=, Φ78;4 Φ4 ?Α>Ε834 Χ74 4Γ?;828Χ 2>=38Χ8>=Β ∆=34Α Φ7827 Χ78Β 9∆<?

2>∆;3 8=3443 >22∆Α.

F>Α Χ74 34Ε4;>?8=6 42>=><Η 20Β4, Χ74 8=ΒΧ0=Χ0=4>∆Β 9∆<? Χ> Χ74 >?Χ8<0; ?0Χ7 2>∆;3 14 8<?>ΒΒ81;4

(4Ε4= ΒΧ0ΑΧ8=6 5Α>< 0 2>Α=4Α Β>;∆Χ8>=, 8.4., Ι4Α> 2>=Β∆<?Χ8>= 0=3 0;; >∆Χ?∆Χ 8=Ε4ΒΧ43 8= ?7ΗΒ820;

20?8Χ0;). I=ΒΧ403 >5 0= 8<<4380Χ4 Χ427=>;>6Η 03>?Χ8>=, Φ7827 Φ>∆;3 2><?4=Β0Χ4 5>Α Χ74 8=8Χ80;

;>Φ ;4Ε4; >5 Ε8=Χ064 ?7ΗΒ820; 20?8Χ0;, Χ74 =4Φ Χ427=>;>6Η 8Β Β∆??>Β43 Χ> 14 2>ΒΧ;Η, 8<?;Η8=6

Χ74 4Γ8ΒΧ4=24 >5 Χ8<4 34;0ΗΒ >5 03>?Χ8>=. F>Α Α4;0Χ8Ε4;Η ?>>Α 42>=><84Β, >;34Α 0=3 Α4;0Χ8Ε4;Η

4=Ε8Α>=<4=Χ0; ∆=5Α84=3;Η <0278=4Β ΒΧ8;; =443 Χ> 14 4<?;>Η43 5>Α 0 24ΑΧ08= ?4Α8>3, ∆=Χ8; Χ74

>?Χ8<0; ?0Χ7 8Β Α402743. F∆ΑΧ74Α, >=4 20= Β7>Φ 4Γ?;828Χ;Η Χ74 4Ρ42Χ >5 >;34ΒΧ <0278=4 8= ∆Β4 >=

>∆Χ?∆Χ 0=3 ?>;;∆Χ8>=. )> 3> Β>, ;4Χ ∆Β Β∆??>Β4 0 < %1 < %�, Β∆27 Χ70Χ, %1 = T (%1), 0=3

%1 = �
1

�+ #
ln

�
�(�+ #)

�(�+ #) + 1� �

�
e�
T (0) +

1� �

�(�+ #)

��
:

)74=, ΒΧ0ΑΧ8=6 5Α>< %1, T (0) Φ8;; 14 Χ74 064 >5 Χ74 >;34ΒΧ <0278=4 8= ∆Β4. )74 4Ρ42Χ >5 Χ74 >;34ΒΧ

<0278=4 >= >∆Χ?∆Χ 0=3 ?>;;∆Χ8>= 20= 14 ΒΧ0Χ43 0Β

T∃!∗−!( 4 A::<4, (5 050;0(3 05=,:;4,5; 796Β3, 6− ( ∗6<5;9≅, (5+ (5 050;0(3 :∗9(7705. ;04,

T (0) (9, .0=,5. A; ;04, % � %1, ;6 2,,7 65 05=,:;05. 05 ;/, 63+,:; 4(∗/05, 05 <:,, 0.,. i0(% �

T (%)) � 0, 04730,: ;/(; )6;/ 6<;7<; (5+ 7633<;065 (9, 05∗9,(:05. −<5∗;065: 6− T (0). F<9;/,9469,,

6<;7<; 0: ∗65∗(=, >0;/ 9,:7,∗; ;6 T (0), >/03, 7633<;065 ∗6<3+ ), ∗65∗(=, 69 ∗65=,?, (5+ ;/, :7,,+

6− 7633<;065 ,40::065 0: −(:;,9 ;/(5 6<;7<;,

@2P (%;T (0))

@T 2(0)
>
@2((%;T (0))

@T 2(0)
; (11)
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>/,9, P (%;T (0)) = P (%).

)74 ?Α>>5 8Β 68Ε4= 8= A??4=38Γ.6 )74 8=Χ∆8Χ8>= >5 Χ78Β Χ74>Α4< 6>4Β 0Β 5>;;>ΦΒ. )74 =4Φ

Χ427=8≅∆4Β, Φ7827 0Α4 <>Α4 4=Ε8Α>=<4=Χ0;;Η 5Α84=3;Η, 0Α4 4<1>3843 8= Χ74 =4Φ <0278=4Β. )7∆Β

:44?8=6 >;3 <0278=4Β 8= ∆Β4 Φ8;; =48Χ74Α ΒΧ>? Χ74 6Α>ΦΧ7 >5 >∆Χ?∆Χ, =>Α 8ΧΒ 1Η-?Α>3∆2Χ, ?>;;∆Χ8>=.

H>Φ4Ε4Α, <0278=4Β Χ70Χ 0Α4 Χ>> >;3 Φ8;; Β;>Φ 3>Φ= Χ74 8=2Α40Β8=6 Β?443 >5 >∆Χ?∆Χ, Φ7827 Φ8;;

14 >Ε4Α2><4 1Η Χ74 Β834-4Ρ42Χ ?>;;∆Χ8>=.

2.3 T∃! ∋%)& b!/2!!) +∗∋∋0/%∗) a) ∗0/+0/

AΒ <4=Χ8>=43 40Α;84Α, Φ74= T (0) > T �, Χ74 42>=><Η ΒΧ0ΑΧΒ Φ8Χ7 0 Α4;0Χ8Ε4;Η ;>Φ ΒΧ>2: >5 20?8Χ0;.

)74= 8= >Α34Α Χ> Α4027 Χ74 8=Χ4Α8>Α Β>;∆Χ8>= (0=3 Χ7∆Β Χ74 >?Χ8<0; ?0Χ7 85 Χ74Α4 8Β >=4) 0Β ≅∆82:;Η

0Β ?>ΒΒ81;4, >=4 ?>ΒΒ818;8ΧΗ 8Β Χ> 8=Ε4ΒΧ 0;; >∆Χ?∆Χ 0Β <4=Χ8>=43 8= ∋4<0Α: 1. I= Χ78Β 20Β4, ΒΧ0ΑΧ8=6

5Α>< 0 2>Α=4Α Β>;∆Χ8>=, Χ74 42>=><ΗΜΒ Β∆1Β4≅∆4=Χ ?>;;∆Χ8>=, Φ74= 0 < % < %�, Φ8;; 14

P (%) =

Z t

t�T (t)
(())e�
zd):

I=3443, ?>;;∆Χ8>= 8=2Α40Β4Β Φ8Χ7 Χ74 022∆<∆;0Χ8>= >5 >∆Χ?∆Χ ((�) 3∆Α8=6 0;; ?4Α8>3Β 8= Φ7827 Χ74

<0278=4 8Β 8= ∆Β4. ∀>Α4>Ε4Α, Χ74Α4 8Β 0;Β> 0 +,3(≅ ,Ε,∗; >= ?>;;∆Χ8>= 2><8=6 5Α>< >∆Χ?∆Χ.

I5 % > %�, Χ70Χ 8Β, Χ74 >?Χ8<0; Β2Α0?8=6 064 8Β Α402743, Χ74= Χ7Α44 38Ρ4Α4=Χ 20Β4Β <0Η >22∆Α.

I5 >=4 Φ4Α4 0;>=6 Χ74 10;0=243 6Α>ΦΧ7 ?0Χ7, 8.4., Χ74 6Α>ΦΧ7 Α0Χ4 >5 8=Ε4ΒΧ<4=Χ 8Β Χ74 Β0<4 0Β

Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5 Χ427=>;>6Η 8<?Α>Ε4Β, 8Χ 5>;;>ΦΒ

((%) =
ie
t



(1� e�
T

�

); P (%) = iT �:

I= Χ78Β 20Β4, ?>;;∆Χ8>= 8Β 8=34?4=34=Χ >5 >∆Χ?∆Χ 0=3 Χ8<4, 1∆Χ >∆Χ?∆Χ 8Β 8=2Α40Β8=6 Φ8Χ7 Χ8<4 %.

H>Φ4Ε4Α, 85 >=4 8Β =>Χ >= Χ74 10;0=243 6Α>ΦΧ7 ?0Χ7, 8Χ 5>;;>ΦΒ Χ70Χ

P (%) =

Z t

t�T �
ie(g�
)zd) =

i

g � 

e(g�
)t(1� e�(g�
)T

�

);

0=3
P (%)

((%)
=

g(1� e�(g�
)T
�
)

(g � 
)(1� e�
T �)
e�
t:

6,4 >=;Η =443 Χ> 2>=Β834Α Χ74 20Β4 Φ74Α4 t � T (t), Β8=24 8= Χ74 20Β4 t � T (t) < 0, Χ74 >;34ΒΧ 8=Ε4ΒΧ<4=Χ

i(t� T (t)) 8Β 68Ε4= 1Η 0ΒΒ∆<?Χ8>= 0Χ Χ74 1468==8=6 >5 Χ74 42>=><Η.
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IΧ 8Β 40ΒΗ Χ> Β44 Χ70Χ 8= Χ78Β 20Β4 >5 ∆=34Α-8=Ε4ΒΧ<4=Χ, Φ74Α4 Χ74 8=Ε4ΒΧ<4=Χ Α0Χ4 8Β ;>Φ4Α Χ70=

Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5 Χ427=>;>6Η 8<?Α>Ε4Β, ?>;;∆Χ8>= 8Β 342Α40Β8=6 >Ε4Α

Χ8<4 3∆4 Χ> Χ74 502Χ Χ70Χ g < 
. H>Φ4Ε4Α, 5>Α Χ74 20Β4 >5 >Ε4Α-8=Ε4ΒΧ<4=Χ, Χ74 8=Ε4ΒΧ<4=Χ Α0Χ4 8Β

78674Α Χ70= Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5 Χ427=>;>6Η 8<?Α>Ε4Β, 0=3 8Χ 5>;;>ΦΒ

Χ70Χ ?>;;∆Χ8>= 8Β 8=2Α40Β8=6 Φ8Χ7 Χ8<4, Φ78;4 Χ74 ?>;;∆Χ8>=->∆Χ?∆Χ Α0Χ8> 8Β 0;Φ0ΗΒ ?>Β8Χ8Ε4 0=3

342Α40Β8=6 >Ε4Α Χ8<4.

T∃!∗−!( 5 !<776:, ;/(; 0 < 
 < �
2 .

(0) F69 (5≅ % > 0, ;/, 7633<;065-6<;7<; 9(;06 0: +,∗9,(:05. 6=,9 ;04,.

(00) F69 0 < % � %�, +<905. ;/, ;9(5:0;065, 7633<;065 0: 05∗9,(:05. >0;/ 9,:7,∗; ;6 6<;7<;.

(000) I− % > %�,

� (5+ 0− ;/, BGP 0: 9,(∗/,+, 7633<;065 0: 05+,7,5+,5; 6− 6<;7<; (5+ ;04,, (5+ 653≅ +,7,5+:

65 ;/, 67;04(3 :∗9(7705. (., (5+ ;/, ;<9505. 7605; 6− 05=,:;4,5; 05 ;/, ,∗6564≅ &>,(2

:<:;(05()3, +,=,3674,5;∋;

� (5+ >, (9, 05 ;/, <5+,9-05=,:;4,5; ∗(:, 4,5;065,+ 05 ∀/,69,4 2, ;/,5 7633<;065 0:

+,∗9,(:05. >0;/ ;04, &:;965. :<:;(05()3, +,=,3674,5;∋;

� (5+ >, (9, 05 ;/, 6=,9-05=,:;4,5; ∗(:,, 7633<;065 >033 ), 05∗9,(:05. 6=,9 ;04, &∗(;(-

:;967/0∗ +,=,3674,5;∋.

)74 0ΒΒ4ΑΧ8>= >5 0 342Α40Β8=6 ?>;;∆Χ8>=->∆Χ?∆Χ Α0Χ8> 8= ΒΧ0Χ4<4=Χ (8) 8Β ?Α>Ε43 8= Χ74 A??4=38Γ.

C>=ΧΑ0ΑΗ Χ> ?Α4Ε8>∆Β ΒΧ∆384Β, >∆Α 0=0;ΗΒ8Β 0Α6∆01;Η 0;;>ΦΒ 5>Α 0 <>Α4 8=ΧΑ820Χ4 ∆=34ΑΒΧ0=38=6

>5 Χ74 ;8=: 14ΧΦ44= >∆Χ?∆Χ 0=3 ?>;;∆Χ8>= 64=4Α0Χ8>=. )74 Χ7Α44 ?>ΒΒ81;4 20Β4Β >=24 Χ74 BG% 8Β

Α402743 (8.4., g = 
 0=3 T = T �) 20= 14 40Β8;Η 8;;∆ΒΧΑ0Χ43 Φ8Χ7 Χ74 74;? >5 F86∆Α4 1. A22>Α38=6;Η,

?>;;∆Χ8>= <0Η Α4<08= 0Χ Χ74 ;4Ε4; P (%�), 64=4Α0Χ8=6 0 Κ0Χ Α4;0Χ8>=Β78? 14ΧΦ44= >∆Χ?∆Χ 0=3 ?>;-

;∆Χ8>=, 0;Χ7>∆67 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 8<?Α>Ε4Β 3∆4 Χ> =0Χ∆Α4ΜΒ Β4;5-Α464=4Α0Χ8>= 018;8ΧΗ .Φ40:

Β∆ΒΧ08=01;4 34Ε4;>?<4=Χ/. )74Α4 8Β 0;Β> Χ74 ?>ΒΒ818;8ΧΗ Χ70Χ Χ74 8=Ε4ΒΧ<4=Χ Α0Χ4 8Β ;>Φ4Α Χ70=

Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5 Χ427=>;>6Η 8<?Α>Ε4Β, Β> Χ70Χ ?>;;∆Χ8>= 342Α40Β4Β

0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ 2>=Ε4Α64Β Χ>Φ0Α3Β 8ΧΒ ∆??4Α 1>∆=3 .ΒΧΑ>=6 Β∆ΒΧ08=01;4 34Ε4;>?<4=Χ/.

!0ΒΧ;Η, 8Χ <0Η 14 Χ70Χ 05Χ4Α 70Ε8=6 Α402743 Χ74 >?Χ8<0; Β2Α0??8=6 064, ?>;;∆Χ8>= 2>=Χ8=∆4Β Χ>
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8=2Α40Β4 0=3 4=Ε8Α>=<4=Χ0; ≅∆0;8ΧΗ Α40274Β 8ΧΒ ;>Φ4Α 1>∆=3 8= ϑ=8Χ4 Χ8<4 .20Χ0ΒΧΑ>?782 34Ε4;>?-

<4=Χ/. )78Β 20Β4 0Α8Β4Β Φ74=4Ε4Α Χ74 8=Ε4ΒΧ<4=Χ Α0Χ4 >∆Χ?024Β Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0;

5Α84=3;8=4ΒΒ >5 Χ427=>;>6Η 8<?Α>Ε4Β.

3 E(+%−%ca∋ a)a∋4.%.

∃∆Α Χ74>Α4Χ820; <>34; Β∆664ΒΧΒ Χ7Α44 ?>Χ4=Χ80; Β24=0Α8>Β Χ70Χ Χ74 >∆Χ?∆Χ-?>;;∆Χ8>= Α4;0Χ8>=Β78?

<0Η Χ0:4 05Χ4Α Χ74 42>=><Η 70Β Α402743 Χ74 >?Χ8<0; Β2Α0??8=6 064 %�, Φ74Α4 Χ74 ΧΑ0942Χ>ΑΗ

Φ8;; 34?4=3 >= Χ74 8=Ε4ΒΧ<4=Χ 6Α>ΦΧ7 Α0Χ4 0=3 Χ74 Α0Χ4 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5

Χ427=>;>6Η 8<?Α>Ε4Β. AΑ6∆01;Η, 8= Χ74 Α40; Φ>Α;3, Χ74Β4 0Α4 ;8:4;Η Χ> 38Ρ4Α 02Α>ΒΒ 2>∆=ΧΑ84Β 0Χ

;40ΒΧ Χ> Β><4 4ΓΧ4=Χ, 0=3 Χ7∆Β, >=4 Φ>∆;3 =>Χ =424ΒΒ0Α8;Η 4Γ?42Χ 2>∆=ΧΑ84Β Χ> 5>;;>Φ Χ74 Β0<4

>∆Χ?∆Χ-?>;;∆Χ8>= ?0Χ7. )0:8=6 5>Α 8=ΒΧ0=24 0Ε4Α064 7633<;065 ()(;,4,5; (5+ ∗65;963 ,?7,5+0;<9,

>5 0 Β0<?;4 >5 16 ∃ECD 2>∆=ΧΑ84Β, >=4 ϑ=3Β Χ70Χ 5>Α 8=ΒΧ0=24 Χ74 Α0Χ8> >5 Χ74 ;0Α64ΒΧ Χ> Χ74

Β<0;;4ΒΧ ϑ6∆Α4 8Β ;0Α64Α Χ70= 3, Χ7∆Β Β∆664ΒΧ8=6 2>=Β834Α01;4 2Α>ΒΒ-2>∆=ΧΑΗ 74Χ4Α>64=48ΧΗ 8= Χ4Α<Β

>5 Φ8;;8=6=4ΒΒ Χ> ?Α><>Χ4 2;40=4Α 4=Ε8Α>=<4=Χ.7 #>Χ Β∆Α?Α8Β8=6;Η, 0 Β8<8;0Α ϑ=38=6, 0;Χ7>∆67 Χ>

0 ;4ΒΒ4Α 4ΓΧ4=3, 20= 14 Α4ΧΑ84Ε43 Φ74= 2><?0Α8=6 8=Ε4ΒΧ<4=Χ ϑ6∆Α4Β Φ74Α4 Χ74 Α0Χ8> >5 Χ74

;0Α64ΒΧ Χ> Χ74 Β<0;;4ΒΧ 8=Ε4ΒΧ<4=Χ Β70Α4 >5 GD% 8Β 0Α>∆=3 1.7. )78Β, 8= Χ∆Α=, ?>8=ΧΒ Χ>Φ0Α3Β

2>=Β834Α01;4 74Χ4Α>64=48ΧΗ >5 2>∆=ΧΑΗ 4Γ?4Α84=24Β 8= Χ4Α<Β >5 >∆Α 
 0=3 g ?0Α0<4Χ4ΑΒ 8= Χ74

Χ74>Α4Χ820; <>34;.

3.1 Da/a a) !c∗)∗(!/−%c .+!c%5ca/%∗)

∃∆Α Χ74>Α4Χ820; <>34; Β7>ΦΒ Χ70Χ Χ74Α4 <0Η 14 0 ?>ΒΒ81;4 270=64 8= Χ74 ;8=: 14ΧΦ44= ?>;;∆Χ8>=

0=3 >∆Χ?∆Χ >=24 0= 42>=><Η 70Β Α402743 Χ74 >?Χ8<0; 064 >5 270=68=6 Χ427=>;>6Η, %�. )78Β 8=

Χ∆Α= <40=Β Χ70Χ >∆Α 30Χ0 70Β Χ> 2>Ε4Α Χ74 ?4Α8>3Β 145>Α4 0=3 05Χ4Α %� 8= >Α34Α Χ> 20?Χ∆Α4 0

?>ΒΒ81;4 E C. ∀>ΒΧ 4Γ8ΒΧ8=6 2Α>ΒΒ-2>∆=ΧΑΗ 4<?8Α820; ΒΧ∆384Β >= Χ74 E C 0Α4, 7>Φ4Ε4Α, 10Β43 >=

30Χ0 05Χ4Α ,,II >= Β∆;5∆Α 0=3 20Α1>= 38>Γ834 4<8ΒΒ8>=Β ΒΧ4<<8=6 5Α>< Χ74 H8ΒΧ>Α820; G;>10;

7%>;;∆Χ8>= A10Χ4<4=Χ 0=3 C>=ΧΑ>; 4Γ?4=38Χ∆Α4 0Α4 34ϑ=43 0Β ?∆Α?>Β45∆; 02Χ8Ε8Χ84Β 08<43 38Α42Χ;Η 0Χ Χ74

?Α4Ε4=Χ8>=, Α43∆2Χ8>= 0=3 4;8<8=0Χ8>= >5 ?>;;∆Χ8>= >Α =∆8Β0=24Β 0Α8Β8=6 0Β 0 Α4Β83∆0; >5 ?Α>3∆2Χ8>= ?Α>24ΒΒ4Β >Α Χ74

2>=Β∆<?Χ8>= >5 6>>3Β 0=3 Β4ΑΕ824Β. IΧ 2><?Α8Β4Β Χ74 Κ>Φ >5 8=Ε4ΒΧ<4=Χ, 8=Χ4Α=0; 2∆ΑΑ4=Χ 4Γ?4=38Χ∆Α4, Β∆1Β8384Β

0=3 544Β Χ70Χ 8Β 38Α42Χ;Η 08<43 0Χ ?>;;∆Χ8>= 010Χ4<4=Χ 0=3 2>=ΧΑ>;, 0=3 Φ7827 8Β 8=2∆ΑΑ43 1Η Χ74 ?∆1;82 Β42Χ>Α,

Χ74 1∆Β8=4ΒΒ Β42Χ>Α, ?Α8Ε0Χ4 7>∆Β47>;3Β 0=3 Β?4280;8Β43 ?Α>3∆24ΑΒ >5 %AC Β4ΑΕ824Β (!8=ΒΧ4Α 0=3 −464;, 2003).
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(∆;5∆Α E<8ΒΒ8>=Β 30Χ010Β4 (!45>7= 4Χ 0;., 1999), 0=3 Χ74 ,>Α;3 ∋4Β>∆Α24 I=ΒΧ8Χ∆Χ4 (%4>?;4

0=3 E2>ΒΗΒΧ4<Β CD-Α><). AΑ6∆01;Η 8= Χ74 2>=Χ4ΓΧ >5 >∆Α <>34;,Φ74Α4 Φ>∆;3 0Α6∆4 Χ70Χ 8Χ 8Β

8<?>ΑΧ0=Χ Χ> 4Γ0<8=4 2>∆=ΧΑ84Β 8=38Ε83∆0;;Η, Χ78Β 2>=ΒΧ8Χ∆Χ4Β 0 ΒΧΑ>=6 ;8<8Χ0Χ8>= Β8=24 8Χ Β44<Β

Α40Β>=01;4 Χ> 0ΒΒ∆<4 Χ70Χ <0=Η 34Ε4;>?43 2>∆=ΧΑ84Β 70Ε4 0ΧΧ08=43 Χ74 ?0Χ7 >5 >?Χ8<0; Β2Α0??8=6

064, 0Β Φ4 34ϑ=4 8Χ, Β><4 Χ8<4 145>Α4 ,,II. I=3443, 0Β 7867;867Χ43 1Η C><8= 0=3 H>789= (2004),

Χ74 Α0Χ4 >5 03>?Χ8>= >5 =4Φ Χ427=>;>684Β 8Β ;8=:43 Χ> 78674Α ;4Ε4;Β >5 8=2><4 ?4Α 20?8Χ0, 7∆<0=

20?8Χ0;, >?4==4ΒΒ, Φ7827 0Α4 0;; 540Χ∆Α4Β Β70Α43 1Η 34Ε4;>?43 2>∆=ΧΑ84Β.

,4 Χ7∆Β, 8= Χ74 ?Α4Β4=Χ ΒΧ∆3Η, 8=ΒΧ403 ∆Β4 ;>=6 78ΒΧ>Α820; Β4Α84Β (∆? Χ> 250 Η40ΑΒ) Χ> ΒΧ∆3Η

Χ74 >∆Χ?∆Χ-?>;;∆Χ8>= Α4;0Χ8>=Β78?. A;Χ7>∆67 Χ78Β Α4ΒΧΑ82ΧΒ Χ74 =∆<14Α >5 2>∆=ΧΑ84Β Χ70Χ 20= 14

4Γ0<8=43 Χ> 26, >5 Φ7827 19 0Α4 34Ε4;>?43, >=4 20= 14 <>Α4 2>=ϑ34=Χ Χ70Χ 8= 0Χ ;40ΒΧ Χ74

8=38Ε83∆0; Β4Α84Β >5 34Ε4;>?43 2>∆=ΧΑ84Β >=4 8Β 01;4 Χ> 20?Χ∆Α4 ?4Α8>3Β 145>Α4 0=3 05Χ4Α Χ74

?>Χ4=Χ80; Χ∆Α=8=6 ?>8=Χ. I= Χ78Β Α460Α3 Φ4 ∆Β4 30Χ0 >= 20Α1>= 38>Γ834 5Α>< Χ74 C0Α1>= D8>Γ834

I=5>Α<0Χ8>= A=0;ΗΒ8Β C4=Χ4Α 2><?8;43 1Η ∀0Α;0=3 4Χ 0;. (2003), Φ74Α4 2>Ε4Α064 6>4Β 0Β 50Α 102:

0Β 1751 5>Α Β><4, 1∆Χ => ;0Χ4Α Χ70= 1901 5>Α >Χ74ΑΒ, 0=3 4ΓΧ4=3Β Χ> ∆? ∆=Χ8; 2000. )74 30Χ0

2>=ΒΧ8Χ∆Χ4Β Χ>Χ0; =0Χ8>=0; 20Α1>= 38>Γ834 4<8ΒΒ8>=Β 5Α>< 5>ΒΒ8;-5∆4; 1∆Α=8=6, 24<4=Χ <0=∆502Χ∆Α4,

0=3 60Β Κ0Α8=6. I= >Α34Α Χ> 64Χ 20Α1>= 38>Γ834 ?4Α 20?8Χ0 ϑ6∆Α4Β, Φ4 38Ε8343 Χ74Β4 Β4Α84Β 1Η

?>?∆;0Χ8>= 30Χ0 5Α>< Χ74 ∀0338Β>= (2001, 2003) 30Χ010Β4. )74 Β0<4 Β>∆Α24 Φ0Β 0;Β> ∆Β43 5>Α

2>∆=ΧΑΗ <40Β∆Α4Β >5 GD%/20?8Χ0, 4Γ24?Χ 5>Α Χ74 ∗( 0=3 Χ74 ∗ , Φ74Α4 Φ4 70Ε4 ∆Β43 GD% 30Χ0

5Α>< J>7=ΒΧ>= 0=3 ,8;;80<Β>= (2003), Α4Β?42Χ8Ε4;Η C;0Α: (2004) 0=3 ∀0338Β>= (2001, 2003).8

I= >Α34Α Χ> 0;;>Φ 5>Α Χ74 ?>ΒΒ81;4 =>=-;8=40Α8ΧΗ 8= Χ74 ?>;;∆Χ8>=->∆Χ?∆Χ Α4;0Χ8>=Β78? Φ4 8<?;4-

<4=Χ43 0 :4Α=4; Α46Α4ΒΒ8>= 4ΒΧ8<0Χ>Α

∀ (%) = g [( (%)] + & (i%) (12)

Φ74Α4 ∀ (:) ΒΧ0=3Β 5>Α ?>;;∆Χ8>= ?4Α 20?8Χ0, ( (:) 5>Α ?4Α 20?8Χ0 >∆Χ?∆Χ, 0=3 & (i%) 8Β 0 38ΒΧ∆Α10=24

Χ4Α<. A22>Α38=6;Η, 85 Φ4 0;;>Φ g (:) Χ> 14 0 Β<>>Χ7 0=3 2>=Χ8=∆>∆Β, ?>ΒΒ81;Η =>=-;8=40Α, 5∆=2Χ8>=

>5 ( (:), Χ74= Χ74 4ΒΧ8<0Χ8>= >5 g [( (:)] 20= 14 <034 1Η

ĝ [( (%)] =  ̂p [( (%)]

8,4, 0Β 8= ?Α4Ε8>∆Β ΒΧ∆384Β >= Χ74 ?>;;∆Χ8>=->∆Χ?∆Χ Α4;0Χ8>=Β78?, ∆Β4 ?4Α 20?8Χ0 <40Β∆Α4Β 8= >Α34Α Χ> =4∆ΧΑ0;8Ι4

5>Α Β8Ι4 4Ρ42ΧΒ.
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Φ74Α4  ̂p [( (:)] 8Β Χ74 =>=?0Α0<4ΧΑ82 #030Α0Η0-,0ΧΒ>= 4ΒΧ8<0Χ4 (#030Α0Η0 (1964) 0=3 ,0ΧΒ>=

(1964)) >5 E [∀ (:) =( (:)], Β∆27 Χ70Χ, 5>Α 0 68Ε4= 2>=Χ8=∆>∆Β, 1>∆=343, 0=3 Α40; Β70?4 5∆=2Χ8>=,

Kh(), Χ70Χ 8=Χ46Α0Χ4Β Χ> >=4 Φ8Χ7 0 Β<>>Χ78=6 ?0Α0<4Χ4Α h,  ̂p [( (:)] 8Β 34ϑ=43 0Β

 ̂p [( (:)] = !�1

nP

i=1
Kh (( � (i) ∀i

nP

i=1
Kh (( � (i)

:

)74 0??40; >5 Χ78Β 4ΒΧ8<0Χ>Α ;84Β 8= 8ΧΒ Ε4ΑΗ Κ4Γ81;4 0??Α>027 Χ> =>=-;8=40Α8ΧΗ 1Η 0;;>Φ8=6 Χ74

Α4;0Χ8>=Β78? 14ΧΦ44= ?>;;∆Χ8>= 0=3 >∆Χ?∆Χ Χ> Ε0ΑΗ >Ε4Α 0;; Ε0;∆4Β >5 ?4Α 20?8Χ0 >∆Χ?∆Χ. I= >∆Α

2>=Χ4ΓΧ Χ78Β 8Β 0Α6∆01;Η ?0ΑΧ82∆;0Α;Η 8<?>ΑΧ0=Χ Β8=24 Φ4 70Ε4 => ?Α8>ΑΒ 01>∆Χ Χ74 Β70?4 >5 Χ74

2∆ΑΕ4 5>Α 8=38Ε83∆0; 2>∆=ΧΑ84Β. ∀>Α4>Ε4Α, >∆Α <>34; 3>4Β =>Χ ?Α>Ε834 0=Η ΒΧΑ∆2Χ∆Α0; 4≅∆0Χ8>=

>Α 0 Α43∆243 5>Α< Χ70Χ 2>∆;3 14 ΒΧΑ0867Χ5>ΑΦ0Α3;Η 2>=5Α>=Χ43 1Η >∆Α 30Χ0.

I= 8<?;4<4=Χ8=6 (12) >= >∆Α 30Χ0 Φ4 ∆Β43 0 G0∆ΒΒ80= :4Α=4; 0=3 0= >?Χ8<0; 10=3Φ83Χ7 5>Α h (Β44

F>Γ (1990)). F8=0;;Η, >=4 Β7>∆;3 =>Χ4 Χ70Χ, 68Ε4= Χ74 =>=?0Α0<4ΧΑ82 =0Χ∆Α4 >5 Χ74 4ΒΧ8<0Χ>Α, Χ74

4ΒΧ8<0Χ4 >5 Χ74 Α4;0Χ8>=Β78? 20==>Χ 14 Β∆1942Χ43 Χ> Χ74 :8=3 >5 ΒΧ0=30Α3 ΒΧ0Χ8ΒΧ820; Χ4ΒΧΒ (Β∆27

0Β 0= F-Χ4ΒΧ >Α 0 Χ-Χ4ΒΧ) >5 ?0Α0<4ΧΑ82 Α46Α4ΒΒ8>=Β. H>Φ4Ε4Α, 8Χ 8Β ?>ΒΒ81;4 Χ> 20;2∆;0Χ4 ∆??4Α

0=3 ;>Φ4Α ?>8=Χ-Φ8Β4 2>=ϑ34=24 8=Χ4ΑΕ0;Β, 0Β Β∆664ΒΧ43 1Η H04Α3;4 (1990). ,4 34?82Χ Χ74Β4 0Χ

Χ74 1ΒΧ 0=3 99Χ7 ?4Α24=Χ8;4Β 38ΒΧΑ81∆Χ8>= >5 63? ?4Α 20?8Χ0 Ε0;∆4Β 0=3 0Χ 4Ε4ΑΗ ϑ5Χ7 ?4Α24=Χ8;4

8= 14ΧΦ44= Χ74Β4 ?>8=ΧΒ. )78Β 34?82Χ8>= 8Β 2>=Ε4=84=Χ 5>Α 60∆68=6 7>Φ Χ74 34=Β8ΧΗ >5 Χ74 Β0<?;4

0Ρ42ΧΒ Χ74 0??Α>Γ8<0Χ8>= 180Β, Β8=24 Χ74Β4 0Α4 8=Ε4ΑΒ4;Η Α4;0Χ43.

3.2 Ec∗)∗(!/−%c −!.0∋/.

I= ;8=4 Φ8Χ7 >∆Α 40Α;84Α 0Α6∆<4=Χ Φ4 ?Α>244343 Χ> 4ΒΧ8<0Χ4 4≅∆0Χ8>= (12) 5>Α Χ74 2>∆=ΧΑ84Β 8= >∆Α

Β0<?;4 8=38Ε83∆0;;Η. ,4 ϑΑΒΧ 34?82Χ Α4Β∆;ΧΒ 5>Α Χ74 ∗( 0=3 Χ74 ∗ 5>Α Φ7827 Φ4 70Ε4 Χ74 ;>=64ΒΧ

Χ8<4 Β4Α84Β (201 0=3 250 Η40ΑΒ, Α4Β?42Χ8Ε4;Η) 8= F86∆Α4Β 2 0=3 3, Α4Β?42Χ8Ε4;Η. )74Β4, 0Β 20=

14 Β44= 5Α>< Χ74 Χ867Χ=4ΒΒ >5 Χ74 2>=ϑ34=24 10=3Β 0Α>∆=3 Χ74 4ΒΧ8<0Χ43 2∆ΑΕ4, 0Α4 Α4;0Χ8Ε4;Η

?Α428Β4;Η 4ΒΧ8<0Χ43. I= Χ4Α<Β >5 Χ748Α 02Χ∆0; Β70?4 >=4 ϑ=3Β Χ70Χ 05Χ4Α 0 ΒΧ44? 8=2Α40Β4, Χ74

?>;;∆Χ8>=->∆Χ?∆Χ Α4;0Χ8>=Β78? Κ0ΧΧ4=Β 8= 1>Χ7 20Β4Β. I<?>ΑΧ0=Χ;Η, 7>Φ4Ε4Α, 8Χ 8Β 2;40Α 8= 1>Χ7

20Β4Β Χ70Χ Χ74Α4 8Β => 4Ε834=24 >5 0= E C. ∃=4 <0Η 0;Β> Χ0:4 =>Χ4 Χ70Χ Χ74 Χ∆Α=8=6 ?>8=Χ >22∆ΑΒ

5>Α 1>Χ7 2>∆=ΧΑ84Β Φ4;; 145>Α4 ,,II - 14ΧΦ44= Χ74 Β42>=3 70;5 >5 Χ74 19Χ7 24=Χ∆ΑΗ 0=3 ,,I

5>Α Χ74 ∗(, 0=3 0Α>∆=3 Χ74 8=3∆ΒΧΑ80; Α4Ε>;∆Χ8>= 5>Α Χ74 ∗ . )78Β Φ>∆;3 Β44< Χ> Β∆1ΒΧ0=Χ80Χ4
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>∆Α 0Α6∆<4=Χ 5>Α ∆Β8=6 ;>=6 Χ8<4 Β4Α84Β Φ74= 4Γ0<8=8=6 Χ74 >∆Χ?∆Χ-?>;;∆Χ8>= Α4;0Χ8>=Β78? 5>Α

2>∆=ΧΑ84Β 8=38Ε83∆0;;Η.

,4 0;Β> 4ΒΧ8<0Χ43 4≅∆0Χ8>= (12) 5>Α >∆Α >Χ74Α 17 34Ε4;>?43 2>∆=ΧΑ84Β 5>Α Φ7827 30Χ0 5>Α 0 Β7>ΑΧ4Α

Χ8<4, 1∆Χ 0Χ ;40ΒΧ 100 Η40ΑΒ, Φ0Β 0Ε08;01;4.9 ∋4Β∆;ΧΒ 5>Α Χ74Β4 0Α4 Β7>Φ= 8= F86∆Α4 4. A22>Α38=6;Η,

>=4 >1Χ08=Β 5>Α <0=Η >5 Χ74Β4 Α>∆67;Η 0 Β8<8;0Α ?82Χ∆Α4 0Β 5>Α Χ74 ∗( 0=3 ∗ 20Β4Β, 8.4., 0=

∆?Φ0Α3 Β;>?8=6 ?0ΑΧ Χ70Χ Κ0ΧΧ4=Β 0Χ Β><4 ?>8=Χ. I= Χ74 20Β4 >5 A∆ΒΧΑ0;80 0=3 #4Φ −40;0=3,

Χ74 2∆ΑΕ4 Β44<Β, 8= 2>=ΧΑ0ΒΧ, Χ> ΒΧ4038;Η 8=2Α40Β4, Φ7827, 022>Α38=6 Χ> >∆Α <>34;, Φ>∆;3 <40=

Χ70Χ 2>=38Χ8>=0;;Η ∆?>= 70Ε8=6 Α402743 Χ748Α >?Χ8<0; Β2Α0??8=6 064, Χ74Β4 ΧΦ> 2>∆=ΧΑ84Β 70Ε4 0

6Α>ΦΧ7 Α0Χ4 >5 8=Ε4ΒΧ<4=Χ Χ70Χ 8Β 78674Α Χ70= Χ74 Α0Χ4 0Χ Φ7827 Χ427=>;>6Η 8<?Α>Ε4Β 8= Χ4Α<Β

>5 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ. A Β8<8;0Α ΒΧ0Χ4<4=Χ 20= 14 <034, 1∆Χ <∆27 <>Α4 20∆Χ8>∆Β;Η, 5>Α

#>ΑΦ0Η 0=3 Χ74 I14Α80= 2>∆=ΧΑ84Β ((?08= 0=3 %>ΑΧ∆60;) 68Ε4= Χ70Χ Χ748Α 2>=ϑ34=24 10=3Β 0Α4

Α4;0Χ8Ε4;Η Φ834. F8=0;;Η, G4Α<0=Η, 0=3 Χ> Β><4 4ΓΧ4=Χ FΑ0=24, B4;68∆<, 0=3 (Φ434=, Β44< Χ> 14

270Α02Χ4Α8Ι43 1Η 0 <>Α4 8=Ε4ΑΧ43 ∗-Β70?43 Α4;0Χ8>=Β78? 14ΧΦ44= >∆Χ?∆Χ 0=3 ?>;;∆Χ8>=, 0;Χ7>∆67

0608=, 5>Α Χ74 Χ7Α44 ;0ΧΧ4Α 2>∆=ΧΑ84Β Χ74 2>=ϑ34=24 10=3Β Β∆664ΒΧ Α4;0Χ8Ε4;Η 8<?Α428Β4 4ΒΧ8<0Χ4Β.

#4Ε4ΑΧ74;4ΒΒ, Χ78Β Α4Β∆;Χ Φ>∆;3 8=3820Χ4 Χ70Χ 5>Α Χ74Β4 2>∆=ΧΑ84Β Χ74 Α0Χ4 >5 8=Ε4ΒΧ<4=Χ 6Α>ΦΧ7

8Β ;>Φ4Α Χ70= Χ74 6Α>ΦΧ7 0Χ Φ7827 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ >5 Χ74 =4Φ Χ427=>;>684Β 8<?Α>Ε4Β,

8.4., Χ74Α4 8Β 0= E C.

,4 0;Β> 34?82Χ >∆Α  4Α=4; Α46Α4ΒΒ8>= 4ΒΧ8<0Χ4Β 5>Α 0 =∆<14Α >5 34Ε4;>?8=6 2>∆=ΧΑ84Β 8= F86∆Α4 5.

F>Α Χ74Β4 >=4 ϑ=3Β Χ70Χ, 4Γ24?Χ 5>Α AΑ64=Χ8=0, 0;; 0Α4 270Α02Χ4Α8Ι43 1Η 0 2>=Χ8=∆>∆Β;Η ∆?Φ0Α3

Β;>?8=6 ?>;;∆Χ8>=->∆Χ?∆Χ 2∆ΑΕ4. A22>Α38=6 Χ> >∆Α Χ74>Α4Χ820; <>34;, ΧΦ> 4Γ?;0=0Χ8>=Β 5>Α Χ78Β

0Α4 ?;0∆Β81;4. E8Χ74Α Χ74Β4 2>∆=ΧΑ84Β 70Ε4 =>Χ Η4Χ Α402743 Χ748Α >?Χ8<0; Β2Α0??8=6 064, Β> Χ70Χ

Χ74Α4 2>=Χ8=∆4Β Χ> 14 0= 8=2Α40Β8=6 ?>;;∆Χ8>=->∆Χ?∆Χ Α4;0Χ8>=Β78?, >Α 8Χ 2>∆;3 14 Χ70Χ Χ74 >?Χ8<∆<

Β2Α0??8=6 064 70Β 144= Α402743 1∆Χ Χ74 Α0Χ4 >5 8=Ε4ΒΧ<4=Χ 6Α>ΦΧ7 8Β 78674Α Χ70= Χ74 Α0Χ4 0Χ Φ7827

Χ427=>;>6Η 8<?Α>Ε4Β 8= Χ4Α<Β >5 4=Ε8Α>=<4=Χ. )78Β ;0ΧΧ4Α 4Γ?;0=0Χ8>= 8Β ∆=;8:4;Η Χ> 14 Α40;8ΒΧ82,

7>Φ4Ε4Α, Β8=24 64=4Α0;;Η 34Ε4;>?8=6 2>∆=ΧΑ84Β 70Ε4 Α4;0Χ8Ε4;Η (Χ> 34Ε4;>?43 2>∆=ΧΑ84Β) ;>Φ Α0Χ4Β

>5 8=Ε4ΒΧ<4=Χ. F>Α 8=ΒΧ0=24, 8= 2000, ;>Φ 8=2><4 2>∆=ΧΑ84Β 703 Α0Χ4Β >5 8=Ε4ΒΧ<4=Χ ;4ΒΒ Χ70=

70;5 2><?0Α43 Χ> Χ70Χ >5 7867 8=2><4 2>∆=ΧΑ84Β (H4ΒΧ>= 4Χ 0;., 2002). A <>Α4 ;8:4;Η 4Γ?;0=0Χ8>=

Φ>∆;3 8=ΒΧ403 14 Χ74 5>Α<4Α >=4, 8.4., Χ74 02Χ∆0; Β2Α0??8=6 064 8Β =>Χ Η4Χ Χ74 >?Χ8<0; >=4. )78Β 8Β

2>=Β8ΒΧ4=Χ Φ8Χ7 ϑ=38=6Β 1Η C><8= 0=3 H>789= (2004), Φ7> =>Χ4 Χ70Χ Ν<>ΒΧ >5 Χ74 Χ427=>;>684Β

9)74 0Ε4Α064 =∆<14Α >5 Η40ΑΒ >5 >1Β4ΑΕ0Χ8>=Β Φ0Β 134 Η40ΑΒ. D4Χ08;Β 1Η 2>∆=ΧΑΗ 20= 14 60Χ74Α43 8= )01;4 2 8=

Χ74 A??4=38Γ.
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Χ70Χ Φ4 2>=Β834Α >Α868=0Χ4 8= 03Ε0=243 42>=><84Β 0=3 0Α4 03>?Χ43 Χ74Α4 ϑΑΒΧ. (∆1Β4≅∆4=Χ;Η,

Χ74Η ΧΑ82:;4 3>Φ= Χ> 2>∆=ΧΑ84Β Χ70Χ ;06 42>=><820;;ΗΟ. ∀>Α4>Ε4Α, 8Χ 8Β Φ4;; :=>Φ= Χ70Χ <∆27

>5 Χ74 Χ427=>;>6Η 8<?>ΑΧ43 8=Χ> 34Ε4;>?8=6 2>∆=ΧΑ84Β 0Α4 Χ7Α>∆67 Β42>=3 70=3 <0278=4ΑΗ. F>Α

4Γ0<?;4, 6Α>ΦΧ7 8= Χ74 <0Α:4Χ 5>Α Χ74 Α4Β0;4 >5 20?8Χ0; 6>>3Β 70Β Α424=Χ;Η 144= 8= Χ74 ΧΦ> 3868Χ

ϑ6∆Α4Β 0=3 Α4?Α4Β4=ΧΒ 2∆ΑΑ4=Χ;Η 01>∆Χ 150 18;;8>= 3>;;0ΑΒ 0==∆0;;Η (J0=8Β27Φ4Β:8 4Χ 0;., 2003).

#>Χ01;4 20Β4Β 8=2;∆34 I=380 Φ74Α4 Χ74 Α0Χ8> >5 ∆Β43 6>>3Β 8Β 01>∆Χ 75 ?4Α 24=Χ >5 0;; 20?8Χ0;

6>>3Β 8<?>ΑΧΒ. )74 Χ427=>;>684Β 4<143343 8= 8<?>ΑΧ43 Β42>=370=3 <0278=4ΑΗ, 7>Φ4Ε4Α, Χ4=3

Χ> 14 <∆27 >;34Α Χ70= Χ74 ΒΧ0Χ4 >5 Χ74 0ΑΧ 0=3 >5Χ4= 70Ε4 0 3∆18>∆Β 4=Ε8Α>=<4=Χ0; Α42>Α3. AΒ 0

<0ΧΧ4Α >5 502Χ, 8Χ 70Β 144= 4ΒΧ8<0Χ43 Χ70Χ Χ74 4Γ?>ΑΧ >5 Β42>=3-70=3 20ΑΒ Χ> 34Ε4;>?8=6 2>∆=ΧΑ84Β

0=3 4<4Α68=6 <0Α:4ΧΒ Φ>Α;3-Φ834 (0??Α>Γ8<0Χ4;Η 3 <8;;8>= ∆=8ΧΒ 0 Η40Α) Φ8;; 2Α40Χ4 0338Χ8>=0;

?>;;∆Χ8>= >5 1.8 <8;;8>= Χ>==4Β >5 20Α1>= 38>Γ834 (J0=8Β27Φ4Β:8 4Χ 0;. (2003), F86.5.4).

4 C∗)c∋0.%∗)

)74 2>=Χ8=∆8=6 3410Χ4 2>=24Α=8=6 Χ74 ;8=: 14ΧΦ44= 42>=><82 34Ε4;>?<4=Χ 0=3 ?>;;∆Χ8>=, 8=

?0ΑΧ82∆;0Α Φ8Χ7 Α460Α3 Χ> Χ74 ?>ΒΒ81;4 4Γ8ΒΧ4=24 >5 0= E C, 34<>=ΒΧΑ0Χ4Β Χ70Χ Χ78Β 8ΒΒ∆4 8Β

ΒΧ8;; >5 2>=Β834Α01;4 8=Χ4Α4ΒΧ Χ> 1>Χ7 02034<82Β 0=3 ?>;82Η<0:4ΑΒ. H>Φ4Ε4Α, Φ78;4 Χ74Α4 8Β 0=

01∆=30=24 >5 4<?8Α820; ΒΧ∆384Β, 64=4Α0;;Η 64=4Α0Χ8=6 <8Γ43 Α4Β∆;ΧΒ, Χ74>Α4Χ820; 8=Ε4ΒΧ860Χ8>=Β

70Ε4 Α4<08=43 Α4;0Χ8Ε4;Η Β20Α24. I= Χ74 ?Α4Β4=Χ 2>=ΧΑ81∆Χ8>=, Φ4 Β743 =4Φ ;867Χ >= Χ78Β 3410Χ4

1Η ?Α>Ε838=6 ?0Α0<4Χ4Α 2>=38Χ8>=Β 5>Α 0= E C.

∃∆Α Χ74>Α4Χ820; <>34;, Φ7827 8Β ?0ΑΧ82∆;0Α;Η 030?Χ43 Χ> Χ74 :8=3 >5 8ΒΒ∆4 ΧΑ40Χ43 74Α4 Β8=24

8Χ 0;;>ΦΒ 5>Α Χ74 ?>ΒΒ818;8ΧΗ 5>Α =4Φ4Α Χ427=>;>684Β Χ> 14 2;40=4Α, ?>8=ΧΒ Χ>Φ0Α3Β Β4Ε4Α0; <0-

9>Α 2>=2;∆Β8>=Β. F8ΑΒΧ, 0= 8<?>ΑΧ0=Χ 38ΒΧ8=2Χ8>= 8Β <034 14ΧΦ44= ?>;;∆Χ8>= 0=3 4=Ε8Α>=<4=Χ0;

≅∆0;8ΧΗ. ,78;4 8= 64=4Α0; Χ74 E C ;8Χ4Α0Χ∆Α4 2>=Β834ΑΒ Χ74Β4 ΧΦ> <40Β∆Α4Β Χ> 14 Α>∆67;Η Χ74

8=Ε4ΑΒ4 >5 4027 >Χ74Α, Φ4 Χ0:4 022>∆=Χ >5 =0Χ∆Α4ΜΒ Β4;5 Α464=4Α0Χ8>= 20?028ΧΗ. )78Β 70Β 8<?>ΑΧ0=Χ

2>=Β4≅∆4=24Β 5>Α Χ74 8=Χ4Α?Α4Χ0Χ8>= >5 Α4Β∆;ΧΒ 8= 4<?8Α820; ΒΧ∆384Β ∆Β8=6 30Χ0 >= ?>;;∆Χ8>= 68Ε4=

Χ70Χ ΒΧ01;4 ?>;;∆Χ8>= ;4Ε4;Β 0Α4 =>Χ =424ΒΒ0Α8;Η 8=2><?0Χ81;4 Φ8Χ7 Β∆ΒΧ08=01;4 42>=><82 34Ε4;>?-

<4=Χ. (42>=3, Φ4 0Α4 01;4 Χ> 34Α8Ε4 4Γ?;828Χ 2>=38Χ8>=Β 5>Α Χ74 4Γ8ΒΧ4=24 >5 0 14;;-Β70?43 E C

8= Χ4Α<Β >5 2>∆=ΧΑ84ΒΜ8=Ε4ΒΧ<4=Χ 6Α>ΦΧ7 Α0Χ4Β, 0=3 Χ74 Α0Χ4 0Χ Φ7827 Χ748Α Χ427=>;>684Β 8<?Α>Ε4

8= Χ4Α<Β >5 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ. (8=24 Χ74Β4 ΧΦ> ?0Α0<4Χ4ΑΒ 0Α4 8= Α40;8ΧΗ ;8:4;Η Χ> 14

Ε4ΑΗ 38Ρ4Α4=Χ 5Α>< 2>∆=ΧΑΗ Χ> 2>∆=ΧΑΗ, 8Χ 8Β Χ7∆Β 8<?>ΑΧ0=Χ 5Α>< 0= 4<?8Α820; ?>8=Χ >5 Ε84Φ Χ>
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4Γ0<8=4 2>∆=ΧΑ84Β 8=38Ε83∆0;;Η, ∆=;4ΒΒ >=4 20= 4Γ?;828Χ;Η 2>=ΧΑ>; 5>Α 0;; Χ74 34Χ4Α<8=0=ΧΒ >5 Χ74Β4

ΧΦ> Ε0Α801;4Β. !0ΒΧ, Φ74= ΒΧ∆3Η8=6 Χ74 Α4;0Χ8>=Β78? 14ΧΦ44= ?>;;∆Χ8>= 0=3 >∆Χ?∆Χ >∆Α <>34;

34<>=ΒΧΑ0Χ4Β Χ70Χ 8Χ 8Β 8<?>ΑΧ0=Χ Χ> 38ΒΧ8=6∆8Β7 14ΧΦ44= ?4Α8>3Β 145>Α4 0=3 05Χ4Α Χ74 >?Χ8<0;

Β2Α0??8=6 064 70Β 144= Α402743. ,78;4 Χ74 ;8=: 8Β 0;Φ0ΗΒ 8=2Α40Β8=6 145>Α4 Χ74 ΒΧ0Χ8>=0ΑΗ ΒΧ0Χ4,

Χ74Α405Χ4Α 8Χ Φ8;; 34?4=3 >= 2>∆=ΧΑ84ΒΜ8=Ε4ΒΧ<4=Χ Α0Χ4Β 0=3 Φ8;;8=6=4ΒΒ Χ> 8<?Α>Ε4 Χ427=>;>684Β 8=

Χ4Α<Β >5 4=Ε8Α>=<4=Χ0; 5Α84=3;8=4ΒΒ. I5 >=4, 0Β Φ4 0Α6∆4 01>Ε4, 4Γ0<8=4Β 2>∆=ΧΑ84Β 8=38Ε83∆0;;Η,

Χ74= >=4 <∆ΒΧ =424ΒΒ0Α8;Η ∆Β4 ;>=6 Χ8<4 Β4Α84Β Β8=24 <0=Η 2>∆=ΧΑ84Β 0Α4 ;8:4;Η Χ> 70Ε4 Α402743

Χ748Α >?Χ8<0; Β2Α0??8=6 064 2>=Β834Α01;4 Χ8<4 06>.

,8Χ7 Χ74Β4 ?>8=ΧΒ 8= <8=3 Φ4 20ΑΑ843 >∆Χ 0= 4<?8Α820; ΒΧ∆3Η >5 0 =∆<14Α >5 2>∆=ΧΑ84Β ∆Β8=6 ;>=6

Χ8<4 Β4Α84Β 0=3 ϑ=3 4Ε834=24 Χ70Χ ?>8=ΧΒ Χ>Φ0Α3Β Ε4ΑΗ 38Ρ4Α4=Χ 4Γ?4Α84=24Β. #>Χ >=;Η 3> >∆Α

Α4Β∆;ΧΒ Β∆664ΒΧ Χ70Χ Β><4 34Ε4;>?43 2>∆=ΧΑ84Β <0Η 70Ε4 4Γ?4Α84=243 Χ748Α ?>Χ4=Χ80; Χ∆Α=8=6 ?>8=Χ

Φ4;; 145>Α4 Χ74 ΒΧ0ΑΧ8=6 ?4Α8>3 >5 <>ΒΧ 2∆ΑΑ4=Χ 4<?8Α820; 0=0;ΗΒ8Β, 1∆Χ Χ70Χ Χ748Α Α4;0Χ8>=Β78?

14ΧΦ44= >∆Χ?∆Χ 0=3 ?>;;∆Χ8>= Χ74Α405Χ4Α 70Β 144= 508Α;Η 74Χ4Α>64=>∆Β - Β><4 Α8Β8=6, Β><4 50;;8=6,

0=3 >Χ74ΑΒ Α4<08=8=6 508Α;Η Κ0Χ. AΒ ?Α4382Χ43 8= >∆Α <>34; Φ4 ϑ=3, 8= 2>=ΧΑ0ΒΧ, Χ70Χ 5>Α 0;<>ΒΧ
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5 A++!) %3

5.1 E3+∋%c%/ .∗∋0/%∗) ∗∀ /∃! !)1%−∗)(!)/a∋ !,0a/%∗) (10)

E≅∆0Χ8>= (10) 20= 14 Α4ΦΑ8ΧΧ4=

E(%) =

8
>>>>>>>>>>>>>>>>>><

>>>>>>>>>>>>>>>>>>:

�(%�) +
�

� (# � �)

h
e��t � e�(q�+�t

�)
i
; if 0 < g 6= 
; g 6= 
 � #;

�(%�) +
�

�
e�qt� ; if 0 < g = 
 � #;

�(%�) +
 

�
 (
 � #)

h
e�
t � e�(q�+
t

�)
i
; if g = 0; # 6= 
;

�(%�) +
 



e�qt� ; if g = 0; # = 
;

�(%�) +
iT �

#
[1� eq� ] ; if 0 < g = 
:

(13)

Φ74Α4 �(%�) = E(%�)e�qt, � = i(1� e�(g�
)T
�
),  = i(1� e
T

�
), � = 
 � g, 0=3 � = %� %�.

5.2 P−∗∗∀ ∗∀ T∃!∗−!( 3: E3+∋%c%/ .∗∋0/%∗) ∀∗− T (t)

I= Χ78Β 0??4=38Γ, Φ4 343∆24 Χ74 4Γ?;828Χ 5>Α< >5 T (%), 68Ε4= Χ74 8=8Χ80; T (0), 0=3 Χ74 >?Χ8<0;

2>=38Χ8>=Β (7) 0=3 (8).

#>Χ8=6 Χ70Χ 4≅∆0Χ8>= (8) 8Β 0 ϑΑΒΧ >Α34Α ;8=40Α 38Ρ4Α4=Χ80; 4≅∆0Χ8>= Φ8Χ7 8=8Χ80; 2>=38Χ8>= �(0) =

�e�
T (0), Φ4 64Χ

�(%) = e(�+q)t
�
�e�
T (0) +

1� �

�+ #

�
1� e�(�+q)t

��
:

C><18=6 Χ78Β Α4Β∆;Χ >5 �(%) Φ8Χ7 4≅∆0Χ8>= (7), Φ4 70Ε4

e�
T (t) = e(�+q�
)t
�
e�
T (0) +

1� �

�(�+ #)

�
1� e�(�+q)t

��
:

H4=24,

T (%) = T (%;T (0)) = %�
�+ #



%�

1



ln

�
e�
T (0) +

1� �

�(�+ #)

�
1� e�(�+q)t

��
:

,4 20= 40Β8;Η 2742: Χ70Χ

@T (%;T (0))

@T (0)
=

e�
T (0)

e�
T (0) + 1��
�(�+q)

�
1� e�(�+q)t

� > 0;
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0=3

T 0(%) = 1�
�+ #



�
1




1��
�
e�(�+q)t

e�
T (0) + 1��
�(�+q)

�
1� e�(�+q)t

� < 0:}

5.3 P−∗∗∀ ∗∀ T∃!∗−!( 4

∗Β8=6 Α4Β∆;ΧΒ 5Α>< 01>Ε4, Φ4 Β7>Φ Χ70Χ

@2T (%;T (0))

@T 2(0)
=

�
e�
T (0) 1��
�(�+q)(1� e

�(�+q)t)
�
e�
T (0) + 1��

�(�+q)

�
1� e�(�+q)t

��2 < 0:

BΗ Χ74 34ϑ=8Χ8>= >5 ((%) 0=3 P (%), Φ4 ΒΧΑ0867Χ5>ΑΦ0Α3;Η 64Χ

@((%;T (0))

@T (0)
= i(%� T (%))

@T (%;T (0))

@T (0)
> 0;

@P (%;T (0))

@T (0)
= i(%� T (%))e�
(t�T (t))

@T (%;T (0))

@T (0)
> 0;

@2((%;T (0))

@T 2(0)
= i(%� T (%))

@2T (%;T (0))

@T 2(0)
� i0(%� T (%))

�
@T (%;T (0))

@T (0)

�2
< 0;

3∆4 Χ> 0ΒΒ∆<?Χ8>=Β i(%) � 0 0=3 i0(%� T (%)) � 0. F∆ΑΧ74Α<>Α4,

@2P (t;T (0))
@T 2(0)

= e�
(t�T (t))

"

i(%� T (%))
@2T (%;T (0))

@T 2(0)
� i0(%� T (%))

�
@T (%;T (0))

@T (0)

�2

+ 
i(%� T (%))

�
@T (%;T (0))

@T (0)

�2#

= e�
(t�T (t))

"
@2((%;T (0))

@T 2(0)
+ 
i(%� T (%))

�
@T (%;T (0))

@T (0)

�2#

>
@2((%;T (0))

@T 2(0)
:

I= >Α34Α Χ> ?Α>Ε4 Χ74 ;0ΒΧ 8=4≅∆0;8ΧΗ, Β∆??>Β4 Χ74 01>Ε4 38Α42Χ8>= >5 Χ78Β 8=4≅∆0;8ΧΗ 8Β 8=2>ΑΑ42Χ.

)74= Φ4 70Ε4, 5>Α Β><4 % > T (%),

e�
(t�T (t))

"
@2((%;T (0))

@T 2(0)
+ 
i(%� T (%))

�
@T (%;T (0))

@T (0)

�2#

�
@2((%;T (0))

@T 2(0)
;
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0=3 Α40ΑΑ0=68=6 Χ74 Χ4Α<Β, Φ4 >1Χ08= Χ70Χ

e�
(t�T (t))
i(%� T (%))

�
@T (%;T (0))

@T (0)

�2
� (1� e�
(t�T (t)))

@2((%;T (0))

@T 2(0)
;

Φ7827 8Β 8<?>ΒΒ81;4 5>Α % > T (%), 68Ε4= Χ74 ;45Χ 70=3 Β834 8Β =>=-=460Χ8Ε4 0=3 Χ74 Α867Χ 70=3 Β834

8Β ΒΧΑ82Χ;Η =460Χ8Ε4.}

5.4 P−∗∗∀ ∗∀ T∃!∗−!( 5: P∗∋∋0/%∗)-∗0/+0/  !c−!a.%)# −a/%∗

D4=>Χ4

R(%) =
P (%)

((%)
=

R t
t�T (t) (())e

�
zd)
R t
t�T (t) (())d)

:

)74 34Α8Ε0Χ8Ε4 >5 R(%) Φ8Χ7 Α4Β?42Χ8Ε4 Χ> % 8Β,

R0(%) =
1

(2(%)

"

((%)

 Z t

t�T (t)
(())d)e�
t �

Z t

t�T (t)
(())e�
zd)

!

� ((%� T (%))(1� T 0(%))

 Z t

t�T (t)
(())d)e�
(t�T (t)) �

Z t

t�T (t)
(())e�
zd)

!#

=
1

(2(%)

"

((%)

Z t

t�T (t)
(())

�
e�
t � e�
z

�
d)

� ((%� T (%))(1� T 0(%))

Z t

t�T (t)
(())

�
e�
(t�T (t)) � e�
z

�
d)

#

< 0;

Φ74Α4 Χ74 ;0ΒΧ 8=4≅∆0;8ΧΗ 2><4Β 5Α>< Χ74 502Χ Χ70Χ T 0(%) < 0, 0=3 Χ74 502Χ Χ70Χ 5>Α %�T (%) < ) < %,

Φ4 70Ε4 e�
t < e�
z < e�
(t�T (t)). }
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Fig. 1 – The environmental Kuznets Curve



F86∆Α4 2: #>=-?0Α0<4ΧΑ82 Α4Β∆;ΧΒ, ∗=8Χ43 (Χ0Χ4Β Β0<?;4

27



F86∆Α4 3: #>=-?0Α0<4ΧΑ82 Α4Β∆;ΧΒ, ∗=8Χ43  8=63>< Β0<?;4

28



F86∆Α4 4: #>=-?0Α0<4ΧΑ82 Α4Β∆;ΧΒ, 34Ε4;>?43

2>∆=ΧΑ84Β Β0<?;4

29



F86∆Α4 5: #>=-?0Α0<4ΧΑ82 Α4Β∆;ΧΒ, 34Ε4;>?8=6 2>∆=ΧΑ84Β Β0<?;4

30



6 Tab∋!.

)01;4 1: %>;;∆Χ8>= 010Χ<4=Χ 8= 8=Ε4ΒΧ<4=Χ Β70Α4Β >5 GD%

31



)01;4 2: #∆<14Α >5 >1Β4ΑΕ0Χ8>= 8= Χ74 =>=-?0Α0<4ΧΑ82 4ΒΧ8<0Χ8>=Β

32


